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Central Teacher Eligibility Test (CTET) 2022
Social Science (VI-VIII)

Solved Paper with Explanation

(Exam Date : 06-02-2023)

(Time : 2.30)

CHILD DEVELOPMENT PEDAGOGY

1. A child's growth and development is influenced

by :/Teh Seel @t Fleg 3T

| - HhI GRT THT(E grar 82

(i) parenting styles/9¥aigT et Jiferat

(ii)) genetic make - up/3TIafITeR BreN/HTeAT

(i) schooling experiences/ferarTeTeit AT

(iv) personal interests/SIRITa &l

(a) (i), (iit) (b) (@), (i)

(c) (), (iii), (iv) (d) (@), (ii), (iii), (iv)
Ans. (d) : 35 3R b SAAIREED a1 AT
e R gt s, 9oft et & f9
Sfedt Tqer g fafEfE a9 €1 s afg ok
fobrg = dm # fawifa #xd@ &, S dwa @ Afed
qetetor 39 Rafe i freifa s @ e em aie &
S 21 3T U s gy 3R fasr e srel g
F e g -

o foarerdt srgwa
o FAfETT B
2.

Developmental changes in children :

et W 3 :

(a) Are universal taking place at the same pace
across cultures./ddl Hepfoai | ’v’ﬂé‘ﬂgﬁ%"
T T § 8

(b) Are uréidimensional and linear./Ts 3TATHI 3R

|

(c) Are a complex interaction between hereditary
and environmental factors./dRITd
TeieRiia R % A9 T Sfed si:fwa )

(d) Are irreversible and proceed from toe to head.

/ § 3R W el ¥ AR T o

3 | |erwarati 3R swmwaet % WY dedr § SAEEA (A) 99

%W@WW:W%@TWWW
Tofd, 3 W faft @ &1 a

£ Hﬁqﬂmﬁqﬂmwmwﬁﬁ?mﬁ%

3. All children across cultures
proceed through the stages
of development in the same

manner at the same age.

Assertion (A) :

afireRe (A):  weft Hegfeat o oo U
39 W Us g it W faeww
o OO W I B

Reason (R) : Childhood is universal and
unidimensional.

ek (R) : goua wrEdiftes AR s
It gt ¥

Choose the correct option.

w&t fawew |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./(A) 3R (R) el
e 2 3 (A) F (R) TE SARSAT BT |
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)./(A) 3R (R) el
?%W(A)ﬁ(f{)wﬁwqﬁm
|
(c) (A) is true but (R) is false./ (A) T& & A
(R) TTerd 21
(d) Both (A) and (R) are false./ (A) R (R) el
o 21
Ans. (d) : TT% S TS H AEGAHF GROT T
H it T W AR H G T8 € i 8
Iefeh -3 By iR depfadl §  stom-stem

Tfadl ¥ a0 U & W H UH & b 9 o &
TN oA 21 I B TAd § Hih aed et Tl ¥
FerT-oren 39 ¥ g % Wl ¥ TRd 81 @ (R)

ekl || wrdifes s U smandt wE afew agasmand g

An&(%é){m% wéﬁ?@ﬁﬁi 21 37 39 g=d & (A) 3R (R) AT Terd 21
W . || 4 Assertion (A) : Socialisation happens only

feprr =i frefRa Bh”{ﬁ g W W feremd ‘%' at school once the children
foeprars aftad= 3R watawofe aRfafaet & begin to go to school.
Afgdia FaeH & R @ i a0 fae ARTHAT (A): WIS Thel W & 2rar §
AR SR qatawor o e 3fa: fFan @1 gRomm €| WSl SR TRl T Y& HTd
Sedl # faraTes uRada dengd 3R qateReie FRet i
C- TET Social Science (Exam date 06.02.2023) 5 YCT



Reason (R) : School is the only
institution of secondary
socialisation.

e (R) : whet Tgdiae aTsiteRter &t
TeHUTS T &

Choose the correct option.

&t fasew A

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./(A) 3R (R) EE|
e 2 3 (A) F (R) TE SHARSAT BT |
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./(A) 3R (R) el
T 2 AT (A) W (R) T& AR T T 2
(c) (A) is true but (R) is false./ (A) W& & wifeh
(R) TTerd &1
(d) Both (A) and (R) are false./ (A) R (R) EEll
e 21
Ans. (d) : 9SS A # fowe gfter fae g
ARl & oW FaeR, e, "MdSl 3R g
Hyer H dEd H oTd @ uEa H gehld & 2
AT % gq@ Sl # 9Ren 3 e wifHd g,
Afeh Hifean, Terdl Oy 3R 31T Y@ T Hee
G g 3R FH IR off wita €1 o 3 e #
THSTHRT &hel § & 8l o gRaR, Hifsar & sy
agEer ¥ ff W g g1 SR e/t
TR § A% wa & J@ afew, uem, e,
Tehtl TR, U % HAA SR 21 39 FHER (A) I
(R) & Terd 21

According to Jean  Piaget cognitive
development is facilitated by the process of :

S fuast & AgER deETe fae TR

TishaT gRT G &aT § ?

(a) Adaptation /AJHcT

(b) Reinforcement/{ﬂatm

(c) Rehearsal /qafwms

(d) Algorithms/&e fafer
Ans. (a) : RIS & SER a=di § 9% @R & WY
AR # HM e e 81 a=d # T WP
3Fhe (Adaptation) el ST 8| fUamt % SFER et
A YRS g ¥ & SFE FH A BT B
e AR # fe S€ius oRRefel & e @ @
39 THa 39 fafm wefes fRard ster-sem @ A
T TF Y GSd g B B @ IR g AN
T &1 T fopar guen Al TR W Ferdt €1 ardree
F T ALE F S HEY g 81 39 Hey H e
RE & § T T ¢ Safh SFFe aed &9 H1
T FE FHI 8 W AR W fEN ¥ eER
AT fehTg, 3Feher SfHAT BRI g QT 2
7.

Choose the correctly matched pair of stages
with the characteristics proposed by Jean
Piaget.

S foremsr gRT wEaTfaa fagraaren o arer sruit
=t T gutea et g4

(a) Sensorimotor state/ - can engage in

make believe play/

5.  Seema is scared to eat sweets from the kitchen Tadt T STae - AeHE TA H Hord
without her mother's permission. She thinks (b) Pre-operational/ - object permanence
that if her mother gets to know about it then begins /
she will be punished. Identify the stage of {éﬂﬁv’qﬂ% S/ ] ofeEdr @
moral development of Seema according to ST
Kohlberg's theory of Moral development. .
war st waft &t SmET % T -{-{;ﬁg ¥ ﬁa-st (c) Concrete Operational/ - Capable of
TR § ol ¥ W o € welt e e :l?;ig reversing
T W SH A frenfn weestt & Sfow T dikares sfaeenr - fRarei @ W
ﬁaﬁﬁ%mlﬁmﬁwwv%? N S
(a) Post Conventional Stage/3aX IRURE X e
(b) Pre-Conventional Stag/‘lat SUSIASE (d) Formal Operational/ - Capable of hypo-
(c) Formal Stage/3rd &R thetico  deductive
(d) Conventional Stage /ARURSF &R thinking /

Ans. (b) : ST TR A A o ® e W & e S S s o R

g # STl 21 3H e @ 5wl o o e e § qem

gor faerft Fieaert & A e F oHER @9 gd||| Ans. (d) : T AN g@ wedfad faaet % @y

IRARE TR A AR rEfy g1 e A 9 A e || =l ) we gafad s

T 21 39 3W H, Tt & i 7T 9§ g5 H et TRadT

s e el 3 e 3 SR & e 80 4| SO S | e i e 3

T WA 3 A & At (F9 § 2 a¥

(1) SRR 3R g8 ) o sfiad fpan

(2) AR iR fafam o 3T TR

C- TET Social Science (Exam date 06.02.2023) 6 YCT



(2) | T-UFaHE T | e wi RE
ad ¥ 7 9 H | srofadfo
Th) J—
o Sfigara
() |0 dfrarers ot o T & oA B
(a1 TTF) | ghad
o FffeRtur
o I
4) | FFI=RE GRS | o yRefeyd RIS
sEr (11 ¥ | b § gy
fereTIae %) -
) E RIS R
fea
o GeATIHS foidd
8. According to Lev Vygotsky, which of these is
an important activity to enable children to
learn ? . .
W SR oh AIEN, eel wl diew W

AT 9 o 0 30 & i & &Rk &l

WUt Rt § ?

(a) Dialogue/gaTg (b) Lecture/sr&AT

(c) Punishment/&sT (d) Rewards /qT&hR
Ans. (a) : OF IINGH & FER, Fedl H @ H
eT S & T Hag i Aeeaqut qftedt & | et 3
T S A R e F 9 U TR %
w7 F WA 81 WM & ST Rl g Rem @
Fafted w, Ted & TY-919 FarE F a1 S B
qEn HH F AU A W 81 dae B =i g}
Ieafe SooT S Waffd FRT 71 S AT A W A g A
Heifer fopan T wefid @i @ et Feft-oedt smar @

TS AT 3R HeqT F& S S Fohet 2

9. Which Psychologist formulated the theory in
which interaction is considered the most
important in language development of a child ?
fre o @ fee ferar fw

sfa:feran & w=ol & Wifue faew W gd

Tgeagut JfreRT &2

(a) Jean Piaget/SiH ot

(b) Lev Vygotsky/aa ST

(c) BF Skinner/sit.T%. &hI-X

(d) Noam Chomsky /A9 =teea!
Ans. (b) : 99 SIS < wfoifed fer fF ofa: fopam &
Fe & Wifve fosr § 9gd Aeaqul fe &1 et
T A F S SR e % f9 Th Aoy ey
% & # 4 21 aEiice Jd @ fh g9 fae
ol & Rt T 21 39 SR IR g gRaw
¥ oM fpem & % Wg-mg o m A fEm &
QT BT SR I IS & WY WIS ST AT A
1 3ygn faendf g el 1 safed F9, 9T &

TII-T1Y aTg B 3R S9! B @ A 5 g fwa

ST 7| ST % STER, Swd agwhi R @l &

o 3 R ¥ dRad 2, R o9 Ao % SER

AT T faee # wecyet gt f §)

10.  The abilities in logico-mathematical intelligence
include : &t aanmaﬁ )
= e § ?

(a) manipulating images, graphic skills and
spatial reasoning - anything that would
include more than two dimensions.

T, IS FA IR wWFE dH-ge o
fordl < 9 sifts st wnfier g

(b) sensitivity to rhythm, pitch, meter, tone,
melody./@@, @, @R, Wgd gfer
BEESNII

(c) distinguishing between specific pitches, tones
and rhythms that others may miss.
fdi, = o @@ F d9 IR HA R
TEEA H 3 ST ¥ Gebd &

(d) making connections based on prior
knowledge and categorization, patterning and
relationships between ideas. /‘qu TE F IR
R FHffeRtor FET, G gea 9 faari % e
RECKEEICIN

Ans. (d) : ThH-TOTHE Jfg H gwaret d, @ 9 &
YR R FAfRoT e, e a9 ferl & @
ol ST e €1 gfad MER % oy ufae fag &
STUR If&T & WIS & T 7 & =l J@e g
T A AR i A T 3fg
TS = F A §1 39 afthes ®9 § wHensi &
WEU H GA AN A, % oA J@eAr FH
e AT P T g

11.  Assertion (A) : A major influence on
adolescents' gender roles
and stereotypes is exerted
by films and
advertisements. )

AfRaT (A):  FRoi &t Sst yfeeredt &
wigatteal & Wi gfEenror
3R gt W fAuia &
T fasmo= 3iR fined wes wr=T
JUTT STt gl

Reason (R) : Media is a powerful
primary agency of
socialisation for

adolescents.

& (R) : Hifsar QUi & Th

yriRITEt gerfires Geer )

Choose the correct option./ T&l Tararea iﬁl
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./(A) 3R (R) el
& € 3 (A) # (R) Wl =A@ T 2

C- TET Social Science (Exam date 06.02.2023)
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(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./(A) 3R (R) el
& & AT (A) # (R) TEI A e e 2
(c) (A) is true but (R) is false./ (A) W& & <ifeh
(R) e 21
(d) Both (A) and (R) are false./ (A) 3R (R) &I
T 2
Ans. (a) : 90 & fou Hifear wamiw &
FO S & aR # famn ¥ whd, wiE e e
TR SR ¥ U T S At 9RaR & s & Sfte
T THSHERT & MY TS HET ST 21 gE Hed
foredl at Sisx femeti @ wfeaedl & ¥ gfewmn sk
Tt H fEiRd FE F fame iR fbed T wer ye
T 1 37 (A) 3N (R) 2Hl W& & 3 (A) & (R)
TE =T BT €|
12.

To facilitate learning of children from varied
backgrounds teachers should :

fafis ggufiet & s & i @ giaen &
ot forerent =t wnfew fom o -
(a) Follow decontextualised curriculum/
TR-STEfTeR TSI BT ITe i |
(b) Implement Differentiated instruction/
fader @y
(c) Adhere to Standardised assessment/
el Hedich &I TTe |
(d) Practice exclusionary practices/

FFESHLT FATT H 3TAH |
Ans. (b) : T TAETN Fem §, fafe Areaaist, g,
MR S Ay e 3 emaret ard & e
2 1 A 3UH TF RRTH FI YA HET AR
TAgl, fiwe, faem aw afgw off % fau wm
e &1 g 21
fafoer Qo Fdomeass WHfeE &1 ST &
3N ARET BE & G # Y S gEE ST
e 2|
THT TR0 ST S s fafaear & @y i
T, 7 o dieH % foTT e ameRr TR R gh|
3 YR &9 R R g § 6 fafe gegfel &
Tod % g A g % for R B AR
3 faafed fda am L)
Assessment :
3TeheA ¢

13.

(c) Should take place to direct learning by
segregating and dividing children into same
ability groups - 'slow learners', 'intelligent

children/a! s<ai I THM & - ofm
diee Al ‘Ffeue e %Wq{saﬁﬁ%
o g=aum fopan ST =R

(d) Should be an integral part of teaching -
learning process beginning from assessin
children's readiness to learn/®! s=ai
F T T AR R wfEa B T

A 37T g =R

Ans. (d) : Reror-smftrm &t e 3§18 3R e
# frerss fYreror-sifnm teber 1 AT S € o 39
afgd od €1 g & e - e
sfep wdpa § e Rweo-aiftem wfker @ swed
7 YA GIUHIT % WY THpd Hd 2|

o Fact AT W Wk & oI efeher 1 v 3K
™ ofrm &t Tfafafrlil & W9 UHed g &
gfyeio & saa faan T @ S fenfdat & 3= & fmio
& TH T B |

o e & w=dl & R I dad ¥ o Y-

SRR ufRaT 1 TH SR S BT AR

14. In a progressive classroom, learning :

Teh Wfarefier sham o Hie=r :
(a) Is individualistic and passive /Sfharal 3R
fafsea 21
(b) Is active and social in character/Sfshal R
g 21

(¢) In exam-oriented/{& 3@ 2

(d) In textbook centred /ATGAIETh a2
Ans. (b) : S €, TH RS aRiEH A Rl
oy St TareRO S A A @ S 9 9 W SR
2 o5 fineror ot ‘TR’ gfepor ¥ & 21 sufere et
® FAA SR ARH I U AT F Y A
HA =R
Tfereiier et i refies fargrand:
o TF WftElic Fenm # T wH WEIR R whET
e § wifs wfeefier R 9 9@ W SR @ 2
IE YO SENEl 3R Rl o wifyE # afear @
TEAT ¥ 3 I 21
o 7g 39 4y W uRa 2 & fen =t g=7 &9 @
Tl P TEA Bl QU BT AR S FA AR IS T
& T T, f5RaT SR 39 W & 3 AR

(a) Should direct learning and what has to be| 15~ Agsertion (A):  Teachers should follow
assessed should determine what is to be standardized  curriculum
taught/aﬁ 33@"“'! Eﬁ %QT[ a#)f Sl %Q 3ﬁt ﬁ)ﬂﬁn’[ and procedures for
Fheld &1 2 39 § fiia & =iee & = assessment of children.

T | AMTHAT (A):  TorereRl ot =l ok oA

(b) Should not be linked to learning since the two % fog m@_ﬂ RIEREL
are seperate processes /@ g TE e A yismarmstt &t I T
ST =R SFifh QT STerT-3te qfshard €| =nfEm
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Reason (R) : The aim of inclusive

education is to work
towards making everyone
the same by dismissing
differences.

TSt e 1 sevm
Tadel @l @RS & avft
® AU g9 Wi foem o
T KT B
Choose the correct option. /A& faered 2|
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./(A) 3R (R) el
& € 3 (A) # (R) T A H B
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) R (R) eIl
w1 § TR (A) H (R) WE AT T T B
(c) (A) is true but (R) is false./ (A) W& & <ifeh
(R) TTerd &1
(d) Both (A) and (R) are false./ (A) 3R (R) &I
T 2
Ans. (d) : 9 BE 1 AWET ST 61 8 SN 9 -
o e S S § o e 8§, 39 TR
T gug off fir S §) Rrerst 1 S F g &
foTT, AFpa Treashd 3R Sfhansii &1 el S =1
Ig HI Tl @ Fifh Th hell §, AHbA STem-37emT
T ¥ S wid & N U R % w9 ma-ume
e #, weft & e N sravadAl @ W H
S SIS €, cifehT He H 39 Funoned & quw g
fafaer siferm &t eTaveshael & qHENT A H TEg
Faff| 3 39 godf §, guash foen & 2y qaud &
TS X qofl o qHH ST el @ e Sedeh e
A BT 2 S SHF R SET # I SR sRem
&I T B 81 3 (A) 3 (R) aFl e 2
16.

& (R) :

When children with special needs are admitted
in an inclusive classroom, which of the
following is correct in such situation?/STo

fafdTe stravaeRar aTer Seo Ueh WHTAT el |
waw o € A e ® ¥ wie-an e wd R

(i) It seems unrealistic for 'special chlldren to
learn among 'normal children' Jratsme E)

wwa—oﬁ%wzr?ﬁwammﬁraﬁ%l

(ii) Children without special needs are
demotivated to learn. SAAIAHAT AT

ool Wi & forg rfiuRe A 2

(iii) Teachers need to change approach of
teaching. f@T?ﬂTsﬁ E) forerur
SEATS hi STAITHT

(iv) It strengthens the ability of all children to
work together, understand and value different

points of View./s'ﬂ'& Teft sreen o AT T R
Y &THAT I STETT- ST IR ol qo i o
I 3T B &

¥ | |Toraarqel fRren @ SEEE wE wAesh e @ v

(a) (ii), (iii) and (iv)/ (ii), (iii) 3 (iv)

(b) (iii) and (iv)/(iii) 3 (iv)

(c) (i) and (iv)/(i) 3 (iv)

(d) (ii) and (iii)/(ii) 3R (iii)
Ans. (b) : THEST e AR Mavasar art arehl Hi
WA aeehl ¥ e R ed & e g1 e
TN T8 A § b ey Stefirs sravasai
oft & U wh g B SR U e # g R
T HE & g fye =mewl S9 &R smavasd
el a=d b GHES sherl # F99 Wd @ dl-

o 1erhl & BT i ggfoai § agcd & Aavehd 81

o 3T Tl Al o WY HE HIT P GHAT G STAT-STAT
g I T L BV GaE B B
17.

When dealing with gifted learners, 'out-of-the-
box' thinking is used to denote

f % dad & ‘ot 9 Fﬁmﬁm

Ao’ &1 SEWTer feRder forw femamm wimar 87

(a) low level thinking /=T TR &t 9=

(b) convergent thinking /3TER o

(c) rigid thinking /3= |9

(d) divergent thinking /3799 Hr=r
Ans. (d) : SRl ferTHAteT % Hed H ‘off ©
g Higd’ & SEHE Y9N 99 % fau fean S 21
sfauremel Rendf @fas w9 ¥ fARw em F
YT AR ST A YT % S99 W1 % g4 8§
SR FH off W@ F 1 T GAA AR, T AR gAawon
& 3 A A AN H IeF TR R TG F B LA
W g1 T ITAE, Ik UM U9 fHed @ g
ol fRid & fend dagsha g @ sl fafm

gyt & s B 3@ § T 8 2 |
18.  What does inclusion in education imply ?
forem & wTareT @ R ek §7
(a) Placement of specially abled in spec1a1 schools
4 ferspernl < R &1 yae

(b) Provisioning of quality education to all
children /@t s=a1 = ferer @1
BIERIC]

(c) Placement of gifted children in special

schools /(e sl < forom fommeral #
[ERIEC

(d) Provisioning of separate sections for special
children in an inclusive set-up / 2BV

T foreiy el & fIw Sre-31em &l i graee

Ans. (b) : Rrn & wuEw & of 3 weft s= @
gt Feed 1 fAwior e @, St et aedt @ o
AEATAFAS FI T AT A §, TR A LA AT
sl 38 ff @1 e aed @ 5 oaed fewndf, gar-
gu 1 fya gme f-d gEeE, Wbl iR
TrgaTfee Yifei e d Ugd & WA ¥ gude garsd

% I oF & WA TH & Wy G F ge 2
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19.  Dyslexia is associated mainly with difficulties in:

B Yehed T Tl gHifeat & deft ¥ 2
(a) hearing /{{?ﬁ (b) reading/qﬁ

(c) speaking JEISE]

(d) speaking and hearing EIER:] ﬂ?ﬁ

22. Principles of socio-constructivist theories of

learning :

JTNTH o W - Wi (HG

(a) emphasise on memorization of information./
TR W SR A E)

(b) emphasise on the predominant directive role

Ans.(b):Wa\W(%ﬁW)@ﬁﬁﬁﬂﬁéw oftheteacherfgﬂﬁlaqﬁmaﬁ
Fed/BE H a-GR foheq Bigd a1 SRRl N v & 1 g W SR 3§
IAH F IO U F YA I AW A B wHH F (c) advocate the role of somal context 1n
TR Il 1 JEAT HET Ul 81 99 3% Ted § learning/Sre= § e ol &t wfteer &
HSE B WA BT AT €, A 9 WeaT Bl GE 3EH A B |
T8 U ¢ 3R 3= el @ 9 foes ¥ off sraud g (d) advocate use of reinforcement and
%IWWW‘?@%W%%W&WW punishment./‘  w F El
Ted & THIE ¥ geE E wferfed e
20.  Which of the following do NOT characterize | |[ADS: (¢) : wH! TS @H e o e fae €
inclusive classrooms ? T T &= ;{g"ﬁé Q?ﬁtw Had ya ?ﬁi‘ré %Gﬁ g,
waTAYf SRermatt @ fergreer 7 € ? A I b | S
(a) Co-operative learning /HgshRIH 3HTERTH j}?ﬁ S zm Gl q@aﬁ % w1 F j;‘ﬁ
(b) Universal design for learning/?ﬁ'@ﬁ % fou 3 S % e QBB. USRS . sﬁm
Y S | T & G- frard G § ami e
. & ofteh B R WG &1 S § SUR, Hri-
(c) Reasonable accommodation /39g<h HH BISE P & ¢ T T 3

(d) Standardised instruction/ﬂTﬂHﬂ?ﬂ Y

—|23. According to Piaget and Vygotsky learnin
Ans. (d) : FERN TR @ @t & fou Fafa s | takes plaége througl% : YEORRY i
forRTy saTemel At B/l & R F 6 TR & LRSI & AR e fee
Haffa et 81w THEsh wen §, s fafaw gfewfy, THET BT S ?
faferer rerer, faferer emarsit oik Al et oH & T (2) Imitation/3TTER0T gRI
& T § @ I 2| GewRe s, @i % fon (b) Passive listening/[fSHa 0T gRI
grsifee fese wd BRI BLRIEE L ENIEIE B (c) Conditioning and reinforcement /3JHe- T
forgioer & Sfia o @ wefe A Ay wHEeh TR
Headl 1 fergiser 7 2 (d) Active engagement of learners /aferTaeRatedt
21.  In Middle Schools teachers should : 1 Gioha ARTE g/
e e Thell U TaTehi i : Ans. (d) : ST @ @R o a3 s @
(a) follow uniform and fixed curriculum /THEUT | |gaeg i & FSHT 9fHar § 6 9fHT e § wHaRd &
9 HIN WIS H T FHT TR fee 21 Riifs TEER I8 AT © 6 SHREmHdie 5N ST
(b) follow standardized — assessment/ATehid | [GHHE JH 3R AER0T F H1Y 37 fha1 F S F g Hieha
HTH I AT HEAT AR &9 Y Iaqed fopar Sr 81 g9 aed a8 @ 5 Rre 39
(c) discourage questioning/J34 @ I gereared || H foeoT T T 2, g BHT H % FH % S 3l
T =R T YaH & 21§ UH Wi swe-fmion siE 2,
(d) encourage learning how to learn /€@ f& et sfrmerel ot @ & o i Ffor e €
Orad & & Siedifed S TR 24.  As a teacher how would you facilitate problem
Ans. (d) : NS THel § REE S CGRE % a9 ;‘;V '“ﬁTg Eamb'lmes ity ;t;;'eg;;; frerie
W €, A AT FA e T THTE SIHATS Y S G S 2
® NEP 2020 & AR, W e 1 b g (a) By Generating fear/9d 3799 Fh
3R Al § @’ (Standardization to (b) By Generating stress /@19 309 HTh
Flexibility) I X a&ara H1 F&qe T 2| (c) By Encouraging passive and repeated
o T o=d F Ay warsli, waTHSHdl, difhs did, memorisation of content/d T & ffera
TaMER SN GHTAEHTH®  fHd= (Critical Thinking) TR-TR A€ H Dl WwIfed Heh
TEEH FET IR A% G g & I e S (d) By Encouraging brainstorming and use of
. strategles such as analogies and heuristics
e NEP 2020 & 3R, Learning (3feFm) WrmeTa e —
(Experiential) BT =T e @ B dRa (Learning) A TeaTed
T T oy e kN R % S
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Ans. (d) : U5 &6 & &9 #, sl i e # I g
T Weg FE & U GHE-GEEA F goeEsEe a1
AETAS 81 UET W % Y, s Rweres # e &
el 1 fovemn & # oed fomfad W & fow
e 3T AR

o T R & &Y § foEN-HgT &I Wedied i 3N
SUMISH SR STEHl S Wit F IuE I SieEea
FTh IH ST |

o fFdl U i 8 B 1 31 THEN IO B AT
|l B GAE HET @ 3N T Had GEEN F IS
T IeT HROT B AT B N R T % @i
F UG B AT G & \ia R i = @ an|
Hh AU T (RS FIHT ST Wehal 21 difh wHE
foefaor § aeT A &)

25.

When students experience the emotion of
their learning is likely to be influenced
positively.

o feommeff &t wmeen w0 egyE W §
qd 3% HiEq W UERHe: GO UgH i
HATET B

(a) tension/ddId (b) shame/3T

(¢) humiliation /8T (d) satisfaction /Wg@'
Ans. (d) : 5@ faendf w4y & WET F eEE FW 2
T 9% HEd W THRES J99 TS F HEEr {
T ¥ A Th EE U S S d9 fier @ 5
Y FB TH W B & S 9 T8 o, a1 5 N9 5D
TH % & ST 9 =ed 9

26.

Intuitive guesses by children based on their
previous understanding should be :

3 Y& FH o MUR W Soell o T STIH
T Rt TR ST iy

(a) discouraged/EaIEd (b) facilitated/THIE
(c) dismissed/@RST (d) punished /3fgd
Ans. (b) : T&s I fRiaT &1 3 ? ool wgelt g &
Y ST 3N S YIS A % SR W
afa fofa o 39 YR &t 99 BE @ e @@ 9
Hied & o Sieafed Bt @ el S $9 nR o,
FEt a1 Refqdl & weg 4 Rrmdls & " 3R
STAH T o fT Sicefed e aifeu | tfermehdied &
A T A AT B Thd @ e 3% Sl f&ar S
afew| el & Tad STAMI HI gAlIed T8 Bl
afeT, Fifh had STHM @ & & M9 SAfermedisi
¥ gest g fRid el o gehd €1 o 31 qd I
% SMER W Todl & Wesl STIAM A HI guired fom
ST =T |

27.

Processes of meaning making in students
should be facilitated :

feranfifat ot o1el s @ wlsRaT I TR W
AT &1 T AR

(a) by emphasising repeated practice/
RN THETH I 3

(b) by passive imitation /BRI STIHTT T

(c) by giving material rewards/Hifee RASSALY IR

(d) by experimentation and discovery/@ﬁT‘T q

By

Ans. (d) : fnfi=i & rd s & ufpar & @ g
SR ER A A S A v fafy § sm
FA-Y-H AR 3¢ @Y A(UH-9-31F @ T F
AR W ad A S 81 Swv-anEia e
s feryor gfvaior @ St o=t &1 g 3 dea &

ey ¥ @ § HeE U 2

28. is NOT an effective problem solving
strategy.
HUEAT THTET st GTa9medt T T 21

(a) Functional fixedness /SehrafcHe 3T&gal

(b) Working backwards /agmTH & Itk

(c) Heuristics /STIHeh

(d) Algorithms/eheTd fafer
Ans.%(a) : BT STEGAT TUIEH Y THERCA 0T
Tl 2|
T T GHE-GHEE UM Th S A 8 S
TN gHE Wie & o fRar ser 21 fafs it
T I9h G S{T-3T HE AT 1 ISR F (U
tF s wHifd odewn,  ggel SRl gfe,
e, wom fafy, s g frge 21 9@ s g
reiRa o a6 o S §1
29.

In socio - constructivist classrooms learning :

Teh WM ToHTETET helrehel # Wi/ dias :

(a) is passive in nature/FfSHa &9 & & 81

(b) gas a social character/® &Y HHISH Bl
|

(c) is textbook centric /A& hi=xd Bl 2

(d) is exam centered /9R&T i BT B

Ans. (b) : TF HHISTH-TITEE F&l § € T Gigd, a8

W, I& FA F SMUR W AW T g AR

T §1 UF g e Ferhet # dieeydies &

WEY G S &1 BHEl B 9T WA F s

el o & fau siemfed &0 =R, iR soH I

o R SR s & wBhaet & s e e o

et B 1 A Rl @1 g oF: B  weEm ¥

a1 o fomien sik 99 % Fafar & &9 7 @ 2

30.

Which of the following factors contributes to
children's failure ?

o # @ HF-T1 wRek Seell it fawedT &

fore e &7

(a) Individualized curriculum /BT TrS=T==

(b) Contextualized curriculum /Hafd ===t

(¢) Spiral curriculum /9fsFa IrS=r=At

(d) Standardization of curriculum / U=t
HIhIhTT
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Ans. (d) : EHATN TS aifSd I H QT T F FHf
e o Refy @ 3 g9 el & faqdd & &9 # 3@
ST bl 81 BE Pl G b 2 GHHH, IR,
sifgs TR, WIEIHS 3R HieHfees HROT &1 A
et S el w I sTeavIhd & STER Jftw
eI YeH AE R gehdr &1 forl @ W o3
ferenfefall sl sTevahaTel SFTHR WS deaal ST
3R Fe H g% 9gE & foru RrmemE Ffsa g &
TN |

SOCIAL SCIENCE
1. The Kushanas ruled from the following centres
of power : )
a3 fm fafafea oifvwemell st @
e feRa ?

(a) Peshawar and Malwa/J9TTaR 3 Hraelr

(b) Peshawar and Mathura/ ENIEE i)

(c) Peshawar and Varanasi/ Y9 ST FRIoTE

(d) Peshawar and Ujjain/ TYMR 3 Ioui
Ans. (b) : TN T TR SR ALY AH AR B
T wee R e H9 & g Sifa @ ww o o
T FW | WO oA FERET A fRA 3 R em
T WS A AwSiRuY 4 avad 91 & fen S
fFT 41 9 99 F TOH FAH UES FAS A1 HEE
HTH A TfREE F YT TR & ST ugel
TSTEE S| FS 4 379 A et § 7830 H -
eI =T

2. Consider statements A, B and C and choose the
correct option./ TF=feIRaea et A, B 3R C
I Ue AT et Terehew ot oo o
(A) The palaeolithic period extends from 2

million years ago to about 12,000 years
ago./JUUTIUT Tl &9 TG | Uget o

12,000 HTST UgeA ok SR HIAT ST 81
(B) This long stretch of time is divided into the
lower, middle and upper palaeolithic./g9

W w oft dw arn ® oster wm €
‘mifyeR’, ‘wed’ wE IR QRIS g
(C) This long span of time covers 99% of
human history./da Sfa&ME st T 99
TeroTa shET=t T hrer o R e g

(a) Only (A) and (B) are true/&ae (A) 3R (B)
w2 g

(b) Only (B) and (C) are true [ (B) R ©
w2 g

(c) Only (A) and (C) are true / FHad (A) R ©)
w2 g

(d) (A), (B) and (C) all are true/(A), (B) 3R ©
Toft Tt €

Ans. (d) : TUUIT 1t FF ARG HA T8 F 12,000
e e % A WA S 813 Hd H f A i 7
F T o QumT Fefa @ S omowo # Reud @
TR T YRH HEFATOT Hl H g3 HIAE 3 &b
AT 99 W el I FA & XA FRed @ 2|
q: feam o HUF A, B 3R C @t w@ 21
3. Read statements (A) and (B) and choose the
correct option./<h ] (A) daT (B) ) 11% G
el faehea &1 S =
(A) Mansab was a grading system used by the
Mughals to fix/(A) : ATES TITEAT I
e vt sxrereer off, fwes Wik :
(i) Rank/Uq
(i) Salary/aa=
(iii) Military responsibilities/ﬁw ST,
frertRer fomg s o
(B) The Mansabdar's military responsibilities
were determined by a numerical value called

zat./(B): » Al

freritor e W w Tt o 9 W @

ST 4Tl

(a) (A) is true but (B) is false/(A) Fal 2 9 (B)
Tedd

(b) (B) is true but (A) is false /(B) Hal 2 9] (A)
Tedd

(¢) Both (A) and (B) are true/(A) &1 (B) &1
wa g

(d) Both (A) and (B) are false /(A) 941 (B) eIl
Terd §

Ans. (a) : TI9EEN e & AT Jemde SFawen
off, fHE Y= qTd wEE SR J W 1575 30 H
fFa ol wEa Al SN A T UE ol a6
fSreh ST v, aaq iR & S fwifta fhe S
q| o7es veg & g @ 9l ger ug| gW e &
3l 33 a7 91 3FHR A IEA & 40 o ¥ W@ wH
FaR SR qpd FEn A # A wEeRR A E
IR 1 FERT TE M Te § §6R a1 geHar a
T 1 v 41 i (A) T 8, W (B) el
4. At which of the following places Ashoka's

inscription has been found in Greek and
Aramaic languages ?

¥ v T W 3mie & Aferg
Ter 3iF SRR Wit # ura = §7
(a) Kandahar/&9R (b) Maski/ATEh
() Topra/E}‘TU (d) Kalsi/a&Terdt
Ans. (a) : YR THH W T 370 H ARG M 3R
SRR A ¥ wEr T @1 W, T, SR e
IS ARTeEl § SHH A 373 fyerar &1 37N W
LIAMYE FoT MRS STt & g fohar s

21
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qe- HE9gH 1837 30 W SFY TIEY W WS &
A gg H goherar el |

* 3TN & Y@l & @5 1750 20 § uedithaer 3
1 off q9r g T 14 7

% TqH & ARGl S A9 9H faeeh fRar ST @ -
R (14) T AW (7) 3R I G|

* 39N & W oG had s fafy # fog g g

* 39N o Rreorg e, @i, M wd ewmes Al
F frerd €1
gm%ﬁwmﬁ‘mﬁwaﬁé@mw
|
el firemerg #- wfiie Sewp i Afd F Swra|
teal forarerg #- Hfel g5, TS Tensd # avid TE
A Tl 1 e g |

5. The Gond Kingdom of Garha Katanga had
70,000 villages. This is mentioned in
Tﬁ:crmar g e, ﬁ700007naﬁ|3ﬁ

Seoriaa feram T €

(a) Uyyakondan Udaiyar inscriptions EFRIEAEE]
IR & AferE §

(b) Akbar Nama/3THeAT §

(c) Historical work titled Buranjisw BIRED
Ufirerfae Hioa &

(d) Description of William Methwold, a factor of
English East India Company /37st $& gfgar
ot % AR, fafeem duaee & v §

Ans. (b) : 7T TH, T HM & 70,000 g &1 39
FFIEM H Ioddfad A T g1 e TS YER H
SN @ S gW SRt B ff 1 Mg B T TG T
o Igf & frardt el @fEi ® geea e UsAl §
frafd & agq gv SINIa S &) S, sTaftEn W
fodt g8 Wfmfas Ffat &1 o©m TST W % WA

AGH P Yoo Lo F g 7

6. Consider the following Assertion (A) and
Reasoning (R). AfRAT (A) AR
/I (R) W foom =i :
Assertion (A) : 'The local tribal people

make the wooden image of
the deity Jagannatha at
Puri, Odissa'.
‘T ST AT R
&, ST o e &t
g femT T8 WAt §1
'The deity was most likely a
local god, who was later
identified with Vishnu'.
‘ST gerd: ek T
Taar &, = o wee
fereuy <1 & Wi fora wEm’
Choose the correct option :/ T&l Torarea %\lﬁ :

AfTRAT (A) :

Reasoning (R) :

ST (R) :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A). /(A) 3R (R) gt
& € 3 (A) # (R) W =A@ T 2
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) 3R (R) RG]
g AT (A) I (R) T& AR T T B
(c) (A) is true but (R) is false./ (A) W& & <ifeh
(R) TTerd &1
(d) Both (A) and (R) are false./ (A) R (R) eIl
Terd &
Ans. (a) : IO, sifeen & ST=19 & SRR ST &
s ord 8, g &1 mfes S fas] wEm &
wgiaaE B 3 a% SEY 1 HS ufeH, e
SIS S g SR S 8, s 78 aead e @
fof ST Y U WEE dEd o, R e 9w
feroy o1 &9 A foren AT STANE, gER SR Sy &
o gfitat armes s gigfafy & sifsen § fe 7
IRES IR § A % TH A FAdt T SHAIHA
i & qEs SEg & A u Afe aHee & s
forar 3Tk a1 1230 H TSN M AT AU T
TESIaH SATETY AT R SR W H Sy @
Sfafages it far) s (A) 3R (R) &9 @@ @ @ik
(A) I (R) T =18 Tl 21
7. Which of the following statements are true
about the Birsa Munda movement/

| & |1 U forET e & fawa ¥ wd 82

(A) Birsa's followers raised the Red Flag as a
symbol of Birsa Raj./fsar &

TS AUS Rl TSRAT TS T Uelter =TI

(B) Birsa used traditional symbols and
languages to rouse people.

IHA o o W weftent 3R v

T TEAAT TeRam

(C) Birsa's movement was against reformin
tribal people. A= alﬁar;ﬁ
HATS ht GURA & fasag 2Tl

(D) Birsa turned against missionaries and
Hindu land Lords./foar 3

feg wrfiert st waw ferier feram)

(a) (B) and (D)/ (B) a1 (D)

(b) (C)and (D)/ (C) T (D)

(¢) (A)and (B)/ (A) @41 (B)

(d) (A) and (C)/ (A) T4 (C)
Ans. (a) : o9 &1 S ©& qe1 qRan H g3 a1l HE
TS ST GO § S SR § @ 81 1895 €. #
forcen = oToe ARl @ amen fRAr f 3 7o el
3T I ST F o AU HHhed o T TR
theld o a1 SIS 3 faeer & 1895 8§ ARwR & A
o % fau a7 # o fean) 1897 €. § S € dled &
e foreE o ST gu e-nid g o e 3
H IHEE F [T WA Idiehl 3 9T H SEHTA
foram| W 3ieT fomaEr TS &1 Wi o
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o &1 Sieie STfearst THS I GERA & o1 foeen 3
dure o e & W off B e faad | R e
¥ ey fhar 6 9 ww §r Big 3, e @ W W
3R g2 & famard 7 &1 7 e &9 Al AW ¥ 7
5 forar 7 ARl ot g Ifferd @1 o oFmR foRkw
Tl 9% 3% IR B AT T W YeT S el F T W
R 91 37 FH (B) IR (D) ¥ £

8. Consider the following statements (A) and (B)
and choose the correct option.

HIAT (A) T (B) W oo & i1 W&t fererew
T =T ®Y

(A) Thousands of rural women who made a
living by spinning cotton thread in India were
rendered Jobless by the mid nineteenth

century. rfior Afgemd W Gd shTaeRt
st sTTehfeT oo W off & sehwe v
& WET deh SIS & TSI

(B) By the 1830s British cotton cloth flooded
Indian market and by the 1880s two-third of all

the cotton clothes worn by Indians were made
of cloth produced in Britain./1830 % IR dh

O SR = # a9 geft % ¥ ue g
1880 & T9Teh Ak RAfy o & T ot fF wra
& T T St wgAd O, SEd ¥ 9 faerd
o= & == grar am
(a) (A) is true but (B) is false./(A) W& 2 f=g (B)
T 2
(b) (B) is true but (A) is false./ (B) & & fhg
(A) TTerd 21
(c) Both (A) and (B) are true but (B) is not the
reason for (A)./(A) 3R (B) T+ @&l & foheg
(A) &1 FROT (B) &l &1
(d) Both (A) and (B) are true and (B) is not the
reason for (A).(A) 3 (B) &l & € @
(A) 1 HROT (B) B
Ans. (d) : aEl gEioT Afgemd S g FEAAR IO
e =ell W @t 9 IH9dl vARd & UeT as%
ISR & M1 e ofart & onfdfe % o= @ o
75 "l # ufgasil, 95 At oR sl @ off g1 3
IRER & Iucred TEIEAl d% A § afad fRam S em
1880 % IUIH % AR 48 & T fF NG & AT e
HUST Tgd & G 2/3 91 51T H a0 g o1, Fifh
3G 999 5T U gSiard a9 o1, i 9RG & & ga *
HUS o0 9, N §E & &Y H g H A I W
(A) 3R (B) a1 T & T4T (A) T HRT (B) 2|
9. Which of the following statements is true ?
frafafaa ® @ w9 o1 waw a8t € ?
(a) Mahatma Gandhi and Rabindranath Tagore
opposed colonial Education./Agie et 3T
Mosary 3R 3 situfafes e & fay
feam|

(b) Mahatma Gandhi and Rabindranath Tagore
supported colonial Education./AgTeT el 3R
Ty 3R sfufEfys forn &1 g
fepa

(c) Mahatma Gandhi opposed the colonial
education but Tagore supported it./F&TET gt
3 sifrafes fren @ fRY e e SR 3
The g9 fopa |

(d) Tagore opposed the colonial education but
Mahatma Gandhi supported it. el |

sfufafees foen @ fody fear feeg wemem
M J sqer g R

Ans. (b) : T TR 3R e SR A 3itEReE
forem o1 fater fopam) et St &1 AT on f R Faw
R el § & & S afew) 39 qafes eieh #
& o W foren a6t stafest e ot | A deay
2R &1 o @ 6 fRn & geeTshar & 9 Thias
RaY % Y ST I AR

e S afyerdt g o aeiet 9 Senfe # suE
FIL S o, TR M oyt g 3R 9=
WO % 9% el &1 QAL "Ed €1 o Siiafafie

3t o1 <A1 7 foder b safoiT a7 uw wE @)

10. 'The practice of widow burning has no sanction

in ancient texts !'/Uref= et ¥ faeremett =r
T St FATAfT et T & TE B

This statement is associated with which Social
reformer ?/9% %Y fhE WA GUNS & A1g

T @

(a) Sri Narayana Guru/4t =07 Te

(b) Swami Dayananda Saraswati /@Ml IAHS
)

(c) Subhash Chandra Bose/gTSa= ¥

(d) Raja Rammohan Roy /ST TR T

Ans. (d) : TEE T § faegareii w1 Saw # ewAfa FE
T & T R TR FU WS THS gURe TSRE HiEd
I % T L 2

TR R [ASIRYT T 3G SR SR IR H TR
FT A 2| g AA-faars, W A, Sfqar, wet,

agf o 37fE 1 R fae feRam

11.  Which of the following organization focussed

on abolition of caste during British rule in
India ?

aRA W S o IO & N Trreriad ¥ 9
WA W ST A WA e W e e
feam

(a) Sanatan Dharma Sabha/"-Tdq e go

(b) Asiatic Society /Tf¥mfeH Fraw=t

(c) Bharat Dharma Mahamandal/¥Rd o memHed
(d) Satyashodhak Samaj/Se3iers TaTl
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Ans. (d) : 9Rd | IS & IMET H ST GoAINerd THS
AHE TS A i INE W TS S e 9 wes
TS AT TS & w0 99 1873 H AT F 5N
fepam T 11 U T B F TR P &Y H YE gaT AN
39 TS H W VT YE UA YT S & A
forqh FT o1l T T fder ol 9 1873 0 H
AR e T&ieh forait|

12. Read the statements (A) and (B) on the

resistance of Tipu Sultan against the British
and Choose the correct answer./&Q e R

3T w1 fodiyr & W ® ®e (A) T e
(B) T US AT W ST < ¢
(A) Tipu Sultan of Mysore fought the British
until he died./3Ta=t T doh 2‘1"1 god
& fareg &5 W)

(B) He resisted the cultural
associated with them./S8= S it

Turedt et ferrer feram

(a) (A)is true but (B) is false/(A) T & &g (B) T

(b) (A) is false but (B) is true /(A) TTdd 2 W

(B) &
(c) Both (A) and (B) is true /2FT (A) T8 (B) ¥& &1
(d) Both (A) and (B) is false /@M (A) TH (B)
T 2

Ans. (¢) : 3§ 7% Y gea S & faes ded |
T HTA- TR I (1767-1769) § e o7 faweht
33| T ST H Jg F 9% IGH [T AY T H T
R 9311 Y G B S 1750 0 H I 4TI HIGAR
Ft Gy g 3IY Yoo ud SIS 3 wE-gm & fafsm &
H aw F fen, g T FEen SN & wiEfow
st w1 fey fpa 3= 1787 0 § “arcume” #
Iufy gror & o1 AY A o USEEr digew #
WA & gy aErEn So9g Wi o 5 oaw it &
T T 21 Y = S FAE F G T SN
A SO ARG AY FA @Ml Y H g wqd
ATA-HR FF (1799) F IWA iomagm § g& off| o
(A) TE (B) & @& 81
13. The book 'Poverty and un-British Rule in

India' was writtenby

‘grardf wrT am-fafevr &t @ 3=r gfgan’ AmeR

e o oE@® o |

(a) A.O Hume/T.37. gH

(b) Badruddin Tyabji/ae&e dgasit

(¢) Romesh Chandra Dutt/ARIE= &

(d) Dadabhai Naorji/aererg =Hsit
Ans. (d) : T WE sHE-FRw & 3 Efew Ams
THF & A@sH TEIE GRS 91 3% I slice 89 3
fear i 9NA % SIS Torgd & &9 F off JE7 S
21 T S WA TSHfae Hal, Sah w6 g o
g1 g 1892 ¥ 1895 & d fbuall Yo & Wk
F T oW BRY % Sy # ot Tl & 92 9|

traditions

14.

Statesmen from which countries were part of
the Non-Aligned-Movement ?

form-for oM & ToHaT TefUeT STiEe w1

fegar & ?

(a) India, Yugoslavia, Indonesia, Ghana,
Egypt/9Rd, e, gemfrar, ==, fre

(b) India, America, Britain, France, Spain/¥Rd,

(c) India, Russia, Poland, Hungary,
Romania/¥9Rd, &4, q}@\f@, T, qarferan

(d) India, Pakistan, Bangladesh, Srilanka, China
/AT, TTfeh&a, o , e, 94

‘ PUESTIER!]
atire | [301 & TS e siEen & feem 91 qefwow

Ans. (a) : 9, , geMRmEn, oM e 5T g
AT (NAM) 1 LT Sufafies =rawen & gaq &
N g Mt T® 98 R AT §@ AU-AC I AufEfs
TaH ¥ TSR 8 W 91 faamr 1961 H FwanfeEn %
Jerre § TefRUy A FI Tgel R TEe TR
fepam TTam o1 3R TEH ot 25 Iu F wRARE T R

feram o

15.  Which of the followin lanets have rings
around them? ) %?r ‘933[ * = 31%'{‘
Beer B §7
(A) Jupiter/ggeafa  (B) Saturn/I1
©) Uranus/?iu@'vTFr (D) Neptune/ﬁ"-?ilc\'rr

() (A), (B), (C) (b) (A), (B), (D)
() (A), (©), (D) (d) B), (©), (D)

Ans. (a) : FgH(d, WM, T (7€) 39 T 7@ & TR
R ol B & |

Jef - I8 WRHSA B GI9 T T &1 TG A 3 W
T f T § ol w81 geEa & Fo ST A
& 95 31 g F IUE i dRHed & ged
ST STE 2

T - 39 I8 & 91 AR g Y S €, e g 7
21 W 1 9o 957 ITE 23 2

SV () - T I F G fSfEm s T A
7T% off IRf 3R o9 T 9 | I8 FH 3 W @ I
e #1 Sl g @ Sefh 3 98 ufvew ¥ qd & 3R
T &1 T Ao gl W e g (97.8 W) W H

T Ti2T g3 S aier 2|

16. The Indian Standard time (IST) is based on the
standard meridian at :

O AEe WA fRE e g W

amenRa &2

(a) 75°30'E/75°30' Q. (b) 78°30'E /78°30' T,

(c) 82°30'E /82°30' Y. (d) 85°30'E /85°30' Q.
Ans. (¢) : TRAT AFE 99 82°30' O WM TR W
e 21 82°30" T e W1 TR & foiebe e
¥ g O 81 RAT A THT I AR @l W
T, WA WRW, U Ifew, Iy W (P Ui
TeA) | Bt o 2
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17. What makes days and nights, and change of

seasons possible ?
T ¥ w0 RE T T qe el § ultad=
Hrfera har €7
(a) Rotation and Revolution of the earth
respectively./sHHET: JeAt & ol T& AT
(b) Revolution and Rotation of the earth
respectively./ SFAIT: JeAT & URSHAT T goiq
(c) Rotation of the earth only./ﬁﬁ% geAl &l Egﬂﬁ
(d) Revolution of the earth only.m gea
TReRHTT
Ans. (a) : 52 & ¥0iA v afem T wd w9 qon wqed
¥ uftade Hefad st 81 gest gRued 1 THAE T 98
2, o/ W Sfam 81 o st suRafd % Srot 58 en 7'’
ot el ST &1 YL 1 UHHAE SUHE WSAT 21 98 37U
R 23 MW PH g W F A R
29.8 ff/qehe % AT T TR A 21
18. The earth rotates 360° in about 24 hours, which
means 15° an hour. What it is 12 noon at
Greenwich, the time at 30° E of Greenwich will
be :
et TR 24 © W U 31&T 360° WX gW
Tt ¥, i 9% 1 e H 15° gHet §, 3H YW
Se i forer ® Ut & 12 w9 €, 99 Wi

¥ 30°gd o 9O O ¢
(a) 2 PM/2 3918 (b) 10 AM/10 JaTE
(c) 2 AM/2 TaTg (d) 10PM /10 3TE

Ans. (a) : 9ot T 24 WS H U e%7 360° W W
St 2, ol a8 1 e H 15° gEd 1 39 YHR v
fafea & AUel % 12 SO &, 99 A F 30° g §
T B 2 AW

19.

Which of the following type of forests are found
in Andaman and Nicobar Islands in

India/37gHT 37 freRem v aggl & e o |

fera g & o UTT ST §

(A) Moist Deciduous Forest/3TTs, quigret o=

(B) Dry Deciduous Forest/3[%h JUiaTet o

(C) Temperate Forest/gframem a=

Choose the appropriate option.

SUITH Taehed T o= Wi

(a) Only (A)/ (A) Faa

(b) Both (A) and (B)/ (A) @1 (B) it

(¢) Both (A) and (C)/ (A) @1 (C) &=t

(d) All (A), (B) and (C)/ (A), (B) a1 (C) &+t
Ans. (a) : 3e9H 3R B £9 ogel # o quford
39 9 S E1 TE AR B UH F5 AT J_Y &1 T
M F @ * o F T wewrR § Rud 21 @@ 5
B 98 Ul F A o1 81 TuS TS 9 SRR 2

20. Read the statements (A) and (R)./f=1 HIAT

3 =y f -

Assertion (A) : Granite are solid rocks and
desirable for buildings,
ornamental purpose and as

rindin tone

THAT (A) : 5113? <Ig § g
fafegw s, "= =@
ey % A W wEm §
TR et R

Reason (R) : They have large grains due
to a very slow cooling
process deep down inside
the earth's crust.

ST (R) : geeft st Uit & sga Ao
gfit-efit g1 T & RO A
L TET AT /T A A B

Choose the appropriate option :

SUYTH faIhcd T FATE HITTT

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A). /(A) T (R) EEl
e & T (R) TE = @ (A) F
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) T (R) EEl
wé € fobed (R) W1 = 8 2 (A) B
(c) (A) is true, but (R) is false./(A) & 2 W
(R) TTerd &1
(d) (A) is false, but (R) is true./(A) TTdd 2 W
(R) T& 21
Ans. (a) : I1E2 3 TgH § ad1 T s # wead
7 fyoeg & d W wE § o o 21 dge wfrdie
Tar forer &, fae W@ sraee whies B g1 IR
9ol & JI A A S €1 WA § o 7% e §
foemr g1 dfterrg % R TR ¥ fRem gedveR #fR
fores 1 el T AR & S IS TR § A T
geAl & quadt F Sgd 99 €R-4R 31 g9 F IR 7
I T B T A A &1 S (A) TN (R) G GE @ e
(R) W& =TT & (A) # |
21.

Consider the following statements about winds
and choose the correct option./‘ﬁFﬁ % AR o

few T wmernt it ufew qen Wt faehew ot =E=

(A) Monsoons are example of seasonal
winds./ATGA ga= WEHr Ter=t T SSrTeuT
Ky

(B) Seasonal winds blow constantly throughout
the year in a particular direction.
Tod ad WX war e feom # et
Tt B

(C) Land and sea breeza are examples of
permanent winds./®Id o WYH THR,
Tl uaHT o SeTeT €
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(a) Only (A) is true/3ae (A) T8 21
(b) Only (A) and (B) are true /Haa (A) T (B)

|
(©) Only% (B) and (C) are true (e (B) @91 (C)

|
(d) Only% (A) and (C) are true / FHad (A) a1 (C)

|
Ans. (a) : T99 @9 FHR I S ¢ T gad, HiEH
e R T e Al ed, 98 Yad @ R
Yarfed 8 & fkemd gug o §ew & SER uRafdd @
I 71 T, T T A ga A ge % 3aRT 2

22.  Read the following statements in the context of

condensation ;T % Hed # for weuel @

(A) Water vapour condenses to dro
water./STeTd o 3T
&t o I B

(B) When droplets of water become too heavy
to float in air, they come¢ down as

precipitation./STsl STeT Ealo) At O
& ot € foR arg # & T weh, 9« F www
& &Y | o 31 et §

(C) Jet planes flying in sky leave a white trail
behind as moisture from their engines

condense./amﬁwﬁgr{@?wém
g Wi® ug fore Sigd € oife o+ @
Trrerett et St 2t et 81
Choose the correct option :/@Et faerca T
AT I :
(a) Only (A) and (B) are true/Hae (A) g1 (B)
|
(b) Only% (B) and (C) are true /&aa (B) @41 (C)
|
(c) Only% (A) and (C) are true / FHad (A) a1 (C)
|
(d) All (A), (B) and (C) are true /At (A), (B) iR
(C) W& B
Ans. (d) : 19 ¥ 59 a4 # GRESAT H G Fed 8
o q@ g1 @ 59 sfi, fomie fag § W @ s
el 8| oSt GHfd 2oL 3eT @I STt 1 §2 s £
I8 ufspar ama % faule 8, w9 9% $ Hged § &
THH! AT Bl 81 aui ff TH SR b HeAd & g2l

lets of
STet

Choose the correct options :/A& faered 2|

() (A)and (B)/ (A) 3R (B)

(b) (A)and (C)/ (A) 3 (C)

(c) (B) and (C)/ (B) 3R (C)

(d) (A), (B) and (C)/ (A), (B) 3 (C)
Ans. (a) : et @ & R 395 39 e &
for fepan STem @ wiifeh F8 oSt # goeh € @ Aol T
st T off G }1 98 AR el TR # o’ S|
1 ST RN 3% 988 W, A, q4T goh SR &
fou fepam ST € ST STWOR W g & S8 W @ 2
IMEAR IeT IR & 9RA H I F ek b w9 §
feu 90 & 991 Th WA 99 & fow 9 9 uiw e

T T 3STH T B 2
24. Consider the following statements (A) and
(B)./A=r fau 7@ e (A) 3R (B) W fomm &

(A) Renewable resources are unlimited and are
not affected by human activities,

Haree i e € iR g W At
Terameit =t wrer & grar 8

(B) Renewable resources get replenished
quickly as compared to non renewable
resources./ HETeA st

Tefiertufter TaTem Weet g & S £
Choose the correct option :/T&r Taeheq T T&=
I
(a) Both (A) and (B) are true/(A)aﬁI (B)ﬁgﬁf%l
(b) Both (A) and (B) are false /(A) R (B) el
e €|
(c) (A) is true but (B) is false/(A) &l 2 oifep
(B) T €
(d) (A) is false but (B) is true/(A) Teld g oifert
(B) & 1
Ans. (d) : TSI FEET § GEET 8 R T AR
UGN B & AR B F [ Tfa fmar S wehar @ adn
: 3G H AR S GHAT 21 g% AeT GEe off ed
| G Foll, G5 Holl, JAGT Foll AHHONT G B
ISR 2 | ST GHre 9 e § e wusr #
T Wharsti g QAR A& S @1 SrEen, e
AT TTepfcieh G SFTAIBLONT TETEA o IAELT & | FHAY
(A) B T 2, S (B) T 2

25. What will be the sequence of the process of
YT Il §3T[ EEE I €3T§ SR 74 98 1e faw taking out minerals from rocks, it you move
Bied § Fifh oAl 9 fIwel =8 dufad @ s @) from earth's surface to inner layers.
TfeTT FoAe & Tad 7 (A), (B) 3R (C) W&l 2 Sttt | Wit @ Al e @ afwar @
23. The Tibetan antelope is hunted for its wool U ST g 3R 3T gt wF waE | s
known as shahtoosh as : fafieh qEl qe ST § 2
fereardlt Uterta nt Rem 30k 59 ' vEqer’ & (A) Open cast mining/faga @I
fau fFen s g, i fR (B) Shaft mining/&Hua T
(A) It is light in weight/JTg T<T= ¥ R BraT & (C) Quarrying/3TT@==
(B) It is extremely warm/Jg 3Tcafires T graT & Choose the correct options :/&t Torehed T
(C) The animal is found in large numbers/dg (@) (©)-(A)-(B) ) (A)-(C)-B)
TTHaR Sga 3feres W& ¥ urEn SIdm § (¢) (A)-(B)-(C) (d) (B) - (A) - (C)
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Ans. (a) : @, A9 @, F9H T T8 Tdl I
@it et Fbd™ & SR & %7 8 S gedt &
g ¥ IS AR el d% S B |

26.

Consider the following statements about
practice of shifting cultivation

el o frafeiad swmemt wT feem s -
(A) There are areas of heavy rainfall/& W
TET AT & 2

(B) It is practiced in areas of quick
regeneration/Jg qrA ?3% )
gt giet gl

(C) It is also called 'slash and burn'

agriculture./$9 ‘Shd= Td &7 HY' & AW A

oft ST AT B

The correct statements are :/143‘1 dTeR-T '3 3

(a) (A) and (B)/ (A) 741 (B)

(b) (B) and (C)/(B) @1 (C)

(c) (A) and (C)/ (A) 7= (C)

(d) All (A), (B) and (C)/ (A), (B) 7T (C) q+ft
Ans. (d) : @A FF F dedf & e Fo ol - 3
9 auf 9 &7 B €, I M qASAA e ard et A
&7 Feferd 2 21 39 P JUTel H b TS @ FH B
T @ off S ST @1 98 H SIS afE % e A
i § sferd 21
27.

If you are discussing Prairies and Velds in the
class, on a world map which region will you

mark?/WWE@&TﬁﬁaﬁaﬁTa@ﬂT

gfteret X @ € o ot fava wefes w R
& Y SifeRa T ?
(a) USA and South America respectively./?’ﬁr‘h

Uo7 STl 3R afur SRt A
(b) South America and Canada
respectively./&fRI0T SR 3R HET HATT:
(c) Amazon Basin and  South  Affica
respectively./3THS SfE RI0T ST AT
(d) Canada and South Africa respectively. /TSl
3R RI0T STHIHT HA:

Ans. (d) : 3R 317 Fe 8§ J3f 3R deg W 9=t
® 2 a1 o9 fova AHRE W HAI: AT R SR
3ThiRT & &1 3ifshd LT a7 AT Hfeadg aw & &
el § 3RT 21 98 30° § 45° oreqivii & geHad A
# qw S g1 S e § e foer e B %
FROT 39 AeFl B R Fd-wd 50° Il e a%
AT S Z1 3T A HSE B WY U5d SRS 7
FEl § o), AT 38, SISl § UM, €, SThieh
g%@,?ﬁ@wﬁ@tﬂawa@mﬁmmw
|

28. Consider the following statements about
stereotypes :/&fgag LRUMST oh T fre
eIl WX eI it

(A) Stereotypes stop us from looking at each
person as a unique individual with his/her
own special quality or skill./ %l gqrunmy

T U AfE ol 3G W e =Afeh
e o @@ T Guard @ Gehdt €,
% &7 H I W A et 2

(B) Stereotypes fit large number of people into
only one pattern or type./&l@

I TEAT | RN @ Tk & YR & @i
T wg et

(C) Stereotypes affects all of us as they give us
opportunities to do certain things we are

good at./&fGag w9 W JIE
ST & Hifeh 3k Teid gH ST Ml w
o1 TRt frern & R gw ot €
Choose the correct option:/T@g&l TaeheT T T&=
HITT :
(a) Only (A) is true/3ae (A) T& 21
(b) Only% (A) and (B) are true/®ad (A) @41 (B)
|
(©) Only% (B) and (C) are true [ (B) @=1 (C)
|
(d) All (A), (B) and (C) are true/9Ht (A), (B) a1
(C) T 21
Ans. (b) : EeaE TH YR & [EREN 2 S 59 =l
F AR H [ 9§ el o W o9 e e W
ferveamd et @ we SH o iR w21 Sfede qledd
' WHR T F 8| TE T F I W R & e
FAT 2| T8 TS GO H A H UH & THR & @i §
T W B WY & wfeds 9w g yAE ARe &
G SR A Fh EhE @ o 9 gwar @
T € % ©U H 3@ ¥ Ush ol 81 3 Sieg GRS
% ded § A d9 B & 21
29,

Identify the areas from those given below,
which have notable cultural influences of Arab
and Chinese traders in the past :

frrafefaa &=t & & 37 &5 ol ug== Sifsg

et arcfia # 3ny eRelt @i =i % et %

SEAEHIT Wikhicreh TS &7

(a) Punjab and Tamil Nadu/dsTe 3T afterg

(b) Kerala and Ladakh /&% 31 oo

(c) Assam and Harayana /37849 3 gRamn

(d) Gujarat and Telangana /TSIId 3R et
Ans. (b) : B 3R TEE I8 & JE &7 §, @l ¥ §
AT 3RS AR HH F AR F ook Gihlah
Y19 21 dERd 99 R SR % 0@ werfedt # @
U A TR 21 R % U & stg o9 fasad
TR AR I Bl fiwd o F@1 ST 81 B, 9RA B
aferor ofterlt 4§ T g B 1§ TR ol we agd
Y A A I FH F ANE f A MY, T@ W
Tl ghed F T S 9ol g9 fRU S @

et ¥ g-a-g fired § o 3 ‘Her-aar wed 2
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30. The President of India is elected by :
R % AR T AT % BT BT

(a) the council of ministers and their head./@fat

Td 3% qRamst #t akug

(b) direct election by eligible citizens./ar
AR ER YoE A

(c) indirect  election by the electoral

college. Hed g AITE REIC
(d) indirect election by all the elected members

including Panchs./941 §fgd T+ =af-d wew=ii

I 3THRT T
Ans. (¢) : YRA & LU & A9 fHatas dsa 57
ST AT F EW BT 81 WRAT T B A T
foates dea & weam @ fan wmar @, R wsa g,
AT 3R T i faemgaett & e ge= @
F1 T F SN IRAE gAE @ (EC) 3R fRan
Sl 21 frafes A 4R % 3= u§ e e (T
T R Ahg Tiwal) & qeft faffa gee v oot
7 F5 Wi weEl (feet w6 qgad) & faum wwsd
(Fremrereht) o foaiferm geedi @ A1 2rar 21
e - 30 54 — TLU F T4

310 55 — UM & FAF FHt AshaT|

'Our Constitution ensures that Government
system doesn't involve only a few privileged
people making decision for everyone. There are

different levels of government. Which derive
their authority from the Constitution'./' THRT

dfea @g gy &tar & f e =
LT hael S TrIIwTiereha it =ht |ftafera

31.

32. Which of the following situations most likely

represents the condition of migrant workers to
an Indian city ?

T W A o Rafer wRa & T I § oy yardt
TG ST STTEAT ohl Ter hitel | Srielt &7

(a) Babu owns a pucca shop in the main market
of the town, which gives him income
throughout the year./aTe T ED RRCZRE IR E:§
TS T9H gHE F S 8, e 38 Q@ oad
= et 71

(b) Rajan sells his wares from a cart during the
day and on which he sleeps at night./TsIH Th
3 W & # 9mE S=ar @ R U@ g W SH
¥ 9 S R

(c) Joy starts a showroom in a new mall to sell
branded wear. /S Teh 95 WifUT A § sigs
FUSl 1 TR G 2|

(d) Veena has a dental clinic in an unauthorised
colony. /30T U& HMFd a&i # TH A
fafepegrer =t 21

Ans. (b) : T8 T 3o W &7 & TmE s=ar & &
B WS H W S 81w Rafr wRa % Uw wel |
AT Yard ForEl e B ad Ha F i 3|
3O A T ©F ¥ R staRe o1gar siadete s
F N AN @ SENTE Sl AT %ed 21 e
YA it sffm, 1979 § yard sfew @ fgw w9
o gt SRS @ Goig a sifEr R T

2 et St |eft & foru foter o o8t W o7 | 33. Consider  the  following  statements about
fafirer wx § oY dfaeams @ & ool areRa eiw putting out system :/TIe e’ & Wad o
STFUHR YT et B T wet W foem i
This explains the following feature of the (A) It is prevalent in most of the big industries
Indian Constitution./9g i in India./T% oAl 9RA o a% 5 uR:)
Trreaferfiae fergroar st samEaT e & werfera 81
(a) Federalism/¥5a1a o (B) In this system merchant supplies the raw
(b) Separation power/QTf?HEﬁ EARCEEIn material and receives the finished
(c) Secularism /R fARaeTeT product./g'{:lﬁ SR HoeT AT ol § 3R
(d) Parliamentary Government /S9&ra TH= I TUR AT YT {14
Ans. (a) : BAN Gfq9E I8 F 2 f6 o (C) In this system craftsman mostly work at
A Had o fovmifagd @i & afnfad T8 e their home or at workshop./5H TehT
St oweft % fore fofa o) o5t gwR F Rftw W) E S 3frehe 3T WX AT T | e
HfE ¥ @ ol a3 SRR WW s €1 e £
W e % FEFTS F T R Choose the correct option :/A&r faeheq T T&=
e (Federalism) I &9 § TH 39 TWhHR JuTell
(Dual Government System) 8, RT&H Th = 3N & it
T WA B 1 e S # g St s (a) Only (B) is true/aeT (B) el &
§ 8w &1 S W wEeE A THER, e (b) Both (A) and (B) are true/(A) T (B) & Tl
S YRA §9 W § gevEn of fF Ued, 99 % W gl
Sqi T ? ok W S A gifved s =R 6 as (c) Both (B) and (C) are true /(B) @41 (C) 2
I Wikl I FA TG ST od ¥
i fagrr B ®W h SER R (d) All (A), (B) and (C) are true /F (A), (B) 741
e # SHfa ‘3T-9T (Quasi-Federal) 71”7 (C) = §1
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Ans. (¢) : TET FaE § AR I FARAT & = ThH
AR T a2 21 forgd =g e At 2
2 3R 3 TR WA W T | AT S FaET I b
by gt § g sE § wefem @1 g e
RIHA ST SR A7 BRI H FHE B 21 3 (B) 3R
(C) H9 T&I 81

34.

The Kkilling of Hector Pieterson by the police in
the wake of a protest, is an episode associated
with which of the following historical struggle ?

Ans. (b) : &g STUfER sifafm g/ 2005 & SFER
g afed i far # guf W sfer e 81 Ryawr
2005 H 1956 & fufem § deed & o€ ¥ 99 2005
T nfgeeii & grfy fF9eH & T 9gafis & ®9 #
qrar & TE oM T afifem & w6 § gume fear
T ATl AIfF UH HWeAEH (Coparcenary) H TA &l off
SV § HEaIie a9l ST b a9l I8 e G
3 T HEeIqul ey 2

36. Indians celebrate Republic day in order to

T oy yevia & R gfew g ReRY mark .

deTa=T H ge @ e, R Ui dud RUSIE] & fo r ae F= W & e

AT EE? e e waTa €

(a) Struggle against racism in America /3TAR&T | (a) India's first general election/Rd % T&el 3T
G192 % Raers ged 3 .

(b) Struggle against monarchy in Nepal/Faret | (b) India's independence/Td &I T )
sy & g oy (c) Enforcement of the Constitution /Hfearem *

(c) Struggle against apartheid in South ?ﬂ"l'&'}}i ) o
Africa/3RoT e § e iy & faamw (d) Completion pf the writhing of the
gud Constitution /Hfa& &1 AEq q el

(d) Struggle against colonialization in Algeria Ans. (¢) : ’:'T{_Vﬁ_q HfeEr % S Eﬁ & fo & W.Wﬁ
T § SufererErs & Raes dod % fo o fee WA 21 e S @ qer s

Ans. (¢) : T Y SeH % AN (o9 AW 8T TR GRS 1935 W eid €1 9Rd 1 Wiem

GetmT & g g, <RI ST # e Hifg &
fgams o ¥ I gF 81 TR woTeh F @t @ S
@ F T F SR W fawia s & Fd e s
T 92 YOI & HROT & ¥ Anll &1 JaaH & AR
¥ dfed W@ T (THeE e 3 Sue e SR Sifiare
% TH H AT TS & gers o GEd & ae o
1994 ¥ fRyoT STl 4 ARGTHR T I & 3N TH
Ju dfgae &1 fmr & e W) ofaey o e g9
Tu fafda gfeum d§ 9ft 1 gae s1fter faw o

35. The Hindu Succession Amendment Act 2005 is
a step towards gender equality for which of the
following reason ?

fg Souiuer  sfufam w2005,

frrefafiaa & @ forg T ¥ ARTT TaEar =t

AT ek ThaH &7

(a) It recognizes the right of daughter to retain
their father's surname upon getting married.

/a8 St #i e & o off Igs Famm W@
1 AR 2T 2|

(b) It recognizes the right of daughter to father's
property./gg sfal &1 far &t Tufq W AR
e 21

(c) It recognizes the eldest child - whether male
or female to be the father's Successor./dg
god aE HdH-aIgdl AT dAgdi-ahl far &l
S A1 & |

(d) It recognizes the right of only unmarried
daughter to father's lands./ag Haa I fearfea
sfeat s fmr & S X iR W @

26 TR 1949 I v=iRa €9 F ifipa fham T qon
26 SHE{ 1950 H IRAE HagH U €9 § @ e
N T ¥ 26 A0 F oA wfoad Mo feaw & w9
TR ST 2|

37.

Ramya working as a support staff in a bakery
has been falsely accused of stealing her
employer's costly mobile phone but she cannot
hire a lawyer to defend her case due to poor
economic conditions. According to which Article
of the Indian constitution will she be provided a
lawyer by the state to represent her case ?

T T SR § weArft wHf % wu § &

HIAT §1 SH Wk WIfeTeh AT HETT WSS Wi

TH F PS AT | AR T WA W

% ‘U T Infde Rerfer’ & wretd 3T o=

HAT TEHA T T TRT ¥ SHE FH HT

yfaffrer ww & fom ardia dfqem & few

TS T TN T G et feram e 2

(a) Article 38/37 % 38

(b) Article 39 (A)/3TT% 39 (A)

(c) Article 40 /3TI=T 40

(d) Article 21 /37=3% 21
Ans. (b) : YRG & TAYH % 90 IV (310 36-51) #
T % A feee fagrd (DPSP) wiftel 81 T®
HELATS & HEUE § foran T 81 428 dfauE g
1976 & 3R 3 39 (A) H a1 741 § ToF T H
f: e S TerEd SeH S R T e # off wn
I TR A IS AT B T T B 7 30
39(A) ¥ 87 TS g dehied & S|
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38. Read the Assertion (A) and Reasoning (R) and

choose the appropriate option :/3TTRIAT (A)
3R wRUT (R) & ufeq qem Sugeh forsheq @
EREkedlsiy
(A): The decisions made by higher courts are
binding on the lower courts./SUH TATAT
Tharer =fier st |\t =ArETerEt st e g )
(R): India has integrated judicial
system./HTd * e ATfeh TaEAT ‘%‘I
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
& a9 (R), (A) B G =T 2
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/(A) (R) EEl
T T T (R), (A) BT TE = T 2
(c) (A) is true but (R) is false/(A) T&l 2 9 (R)
Ted 2|
(d) (A) is false but (R) is true/(A) Ted & T (R)
o 2l
Ans. (a) : I8 =TT % ST G BEA & 7, 98 A€ &
il e S A S &1 YR #1 gated s
fass gefter @ wie & @y W &1 I =mEeE 2
WRA T T TF & U H U qd1 T A
Ied A I ST =@ | o a8 9o @
(A) 3 (R) BFT & & 991 (R), (A) &I T& =40 & |
39.

an

Consider the following statements (A), (B) and

©) : HAF (A), (B) €T (C) W

foram i -

(A)Tawa Matsya Sangh was formed against
building the Tawa Dam./ddlT U A <l
B T e & i o Rger gan am

(B)Tawa matsya Sangh was formed for
protecting the rights of forest dwellers of
Madhya Pradesh to continue fishing at dam
for their livelihood./daT W& WY T TS

LT Y9 oh ST forarfa o st frelge
& AT st W usferat qehea & W @l
T T o AR i T8 ok fag gam am

(C)Tawa Matsya Sangh provides loan to the
fish workers./ TaT He&d HY HGART hl 0T

oft 9 T HEEAT AT B

Choose the correct option :/@Et faerca T

AT HIT

(a) Only (A) is true/3ae (A) T& 21

(b) Only (A) and (B) are true/®ad (A) @1 (B)
& g

(¢) Only (B) and (C) are true /e (B) @=1 (C)
wé g

(d) All (A), (B) and (C) are true/Fst (A), (B) T
(C) T &1

Ans. (¢) : 1996 30 H T&T Yo WHR 7 78 7 f%Han
TqaT S & AT ¥ Al Yhed & AUER T I
fereenfodl & & feam SR dohel SR 3 de Hee
g H 919 H TSl Ghed & [T G a9 1 92T ()
a1 iR foRa S 39 e 2 SHad 1997 W der &
% 33 Tial & WM & foIU T Ger GE el H Iy
37| a1 e HY WYII &l B0 & A e off F
21 39 ¥R %99 (B) 3R (C) ¥& 2|

40.

Consider the following statements about Tribal

languages. TSt o SN W ﬁ'ﬂ: ma
forer el & e

(A) Santhali has significant body of publication
including magazines an the internet./ STt

TTHT T STUAT ST W N Wehtor 2 & R

Fee uT ufrentd oft vniftrer £

(B) Tribal languages are radically different

from and possibly as old as Sanskrit.

aTeTd TRT ¥ foege otem € 3R duem:

It € g R

Choose the correct option :/@Et faerca T

IS AT :

(a) Only (A) is true /%ad (A) 98t 2

(b) Only (B) is true / aet (B) ¥&l & |

(c) Both (A) and (B) are true/(A) 7T (B) 2FI Tl €1

(d) Neither (A) nor (B) is true /9 a (A) HqR T @

(B) W ¢

Ans. (c) : @9 2003 H 929 Fawue Helew fufEm
Z TArel & ARG Sfgue Y smedl oTgEr § arel,
S, Afrell, el % Gy ana @ efuERs 9 F
w7 § geiew e T 71 omedl e § 3w
F H A A 5 IRT WHR Fel 9w & FEE
fore sfoeg 4| garehl 9 &1 Setie W aRed 9 e 21
aRG H af 2011 F SR F ER, I W F FAeh
Fe a1t 70 AR T 3R AN @1 SR e e
T T A § Repa e A 21 39 R SHed

et & Gedt § FU9 (A) 3R (B) 2F T& 2
41. Match the following column as :
Column X Column Y
Approach of Learning | Interpretation
Social Sciences
(A) Behaviouristic (D Facilitates
integrated
knowledge
(B) Constructivist (IT) Accumulation of
finite sets of
skills and facts
(C) Multi disciplinary (I1D) Disciplines
remain
independent

(D) Inter disciplinary (IV) Learner centric

and contextual
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frefefiaa wiw e #RTT -
wHiAaT X i Y
[T fam= Teraer/3ret
AR o Tl
(A) SHTRRATE] (I) 9upferd ¥9 |
TETIAT AT
(B) TETY 1) difd #va R
T T T
(C) Fg-faas IurmH glﬁl)%férw TR A
(D) 3fafde=i Iamm (V) Afermesdt  Hfsa
R G

Choose the correct option./E&l farehed <
(@) (A)-AV) B - (D) (C) - (II) (D) - (1)
(b) (A)- (D) B -(AV) (C) - (IIT) (D) - (I)
(c) (A)- (1) B - (I1) (C) - () (D) - (IV)
(d A)-AV)B-@ (© -dID (D) - 0D

Ans. (b) : T& gHTH I9 YN 2|

[T T Terarer/ared

AT & iR
(A) FTIRRATE diftr HIvrer 3R qe & gud
(B) TEATETE ferTHRal hfvsa 37X Wi
(C) g-fomass summ | fame g@en @eT B
(D) Sfafdwlt IUFM | TR FF H HRTIATl BT |

42. Which of the following is the correct

explanation of the term 'site' in history ?

frfeiaa # & i 91 9158 giera o gureere’

it T AT TEIA HIAT § 2

(a) A place where store tools were
manufactured./38 T S&l GRR % AR
femior fopam s e

(b) A place where the remains of things line tools
pots, buildings etc were found./ a8 T &l
IR, =4 3R ARl S aegeit % sraniy
firet 2

(c) A place where hunter - gatherers used to live./
T8 T S SAEH-T GRS & |

(d) A place where remains of ancient engineering
works were found. / @ T & WA

geifraftr #&f % vy fiet g
Ans. (b) : 98 M & SfWR, ad iR AR o
gl o TN el & 7% a2 e § quewd & wd
RAT T HT & | A AR 3 i e amh
FH T A T o [0 SR 7 39 @ A §
sier §-
(A) SRS et
(B) 3T - Ufmifes st
(C) ferfe et
TriferTes ial 1 sfoerd quid: quatfeas @edl ¥ & 3
2T B, i g6 Pt BN HIS foiiad qRT ST e B |

43. A teacher wants to discuss about the lived

experiences of a minority community with her

students. What would be the most appropriate

teaching strategy ?

T fortereRt stum feenfiie & Wi sTeuEEEe

WS o S IgWal & SR W gl A

wmedt ¥ i W sty suges foreror vurfe

Bnft?

(a) Charts on Constitutional provisions for
Minorities. / i P& oy SCEIEED
TEEH W AR |

(b) NSS data on employment of Minorities./
ACTHEIH % YSTN W TH.UH.TH. S|

(c) A feature film having a  Minority
character./T& HreX fthed g TS AqdTH

feFta 21
(d) A Presentation on people's daily activities in a
Minority dominated area./3TcqEETHh TV
at &7 § ant @ e TRfaRel |
TEAThT |
Ans. (d) : STCUHEIS WG a1 &F ¥ @l e
Tfefeferdl T T ST, T A 39 fmerr Wi
et R W us fieresr orge frenfiet & w1y srewdETs
YEE & ofed Il & ar H wel F = 2
gﬁaﬁﬁmﬁﬁmﬁwﬁ%ﬁﬁaﬁwaﬁn‘%
30 29 - SFCTHEAE A o fedl N HEOI, G HaE
iR Sfeefiad 21
30 30- o TRUEl # T R WA H H
TS I b SARYHR & A 7 2
44.

To introduce elementary school students to
issues of caste based discrimination, which of
the following resource can be used ?

yrityes forem & feenfofat =t e smenfia

YENTd & g W URfum A % o,

frafafeas § ¥ &9 ¥ §WEE @ 5ET W

HHAE ?

(a) Ashokan pillar inscriptions /ARG ST 3TeN
% w9 W 8 gu §

(b) Text on Reservation policy/3TR&UT =ifd W

(c) Universal Declaration of Human
Rights/Aa3TeRI 1 Hrest-h ST
(d) Narrative of B.R. Ambedkar's childhood
experiences. /a1 3TR. 3TRIEHT F T F
SF9El % g |
Ans. (d) : 9.3 TEEH & 9 & FIHET &k FA FH
yIrT yRftvas o & fomnfdel @ snfa emenfia dewe &
T § oRfad s % fIT UF weEqel e @ e 2
FEESH I HIHE H R A B 1936
HTAfGeTH 36 He (Sfd ¥or &1 fomm) Tms gws
ford |
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45. A history teacher wants to teach 'Rise of

Mauraya Empire' to her students. Whihc of the
following teaching aid should she use ?

TH ‘v e @ e

fawar w1 erum faenfefat = uemr wmeEdt ®)

frafafaa & | & o freror W |

H T 3% AT wTfe?

(a) Comparative Timeline/eTHIcHe g @

(b) Line Graph AT e

(c) Progressive Timeline/Sfersfier Tmeam

(d) Bar Graph/sg 3Tei@
Ans. (c) : T SIS I NEAMYH 414 TGY H 327
forrr 1 oo fornfefelt @t werm AR 21 e fw s
yfaelicr e ar Remn gers el & S S
Tifew | smfaefrer T Y, ardE sfe @ gwg e,
s aRa o 3o qHadl Todt § wewqul FRE 3R
& Rad T Torifas Fe-Td et g 8|

46. Documentaries to teach about 'diversity'
relevant, if the teacher uses it for

fafrear & R ® TgR & fag qaﬁ:lsr

TR € 3R etk g v % e

T B

(a) Providing experience of life in an unfamiliar
geographical space./Tsh 3T M
T e & TV ITAH B

(b) Keeping stduents entertained /et &
RS

is

(c) Showing the'weird' ways in whihc others live

their lives./37F 3194 Sfigd § &4 Sfid & 34
‘st § qlehl @ feme

(d) Breaking monotony of lecture method.

/AT fafY & TeHEar & T H

Ans. (a) : ffae@ & sR & qgn 3 forw gafm i @
3R R S9! JANT Teh IS A M H Sae
F ST ST FA & AT e g1 fafaer @ s
T W U8 3§ 6 STN-3T6N YER & oH, siel 9 3R
Fofq A S : 9Rd TS fafgear o w g, orefq
gt fofire wehr & aiferal, Wed SR gl dur S
g wd St e 2

47.

A seventh grade social science teacher took her
students for a visit to a village Panchayat office.
What are the benefits of using this pedagogical
strategy ?/Ueh HTaal hell Eﬁgr mTTeR faa=
sreTfueRt ot faenfyei @ T deEe &
TER & N W o Al 31 3@ reror fafer &
T EER § 7

(A) Furnishes first hand information about the

topic. o yeaet /SIETTI
(B) Effective = means of supplementin
topic./fawer & s W erfafih A=eR é‘-gt
T gt iR
(C) Links school life with the life of the
community.f{ifgz?'ﬁ <t Sfre=
q Hueh T Tl

(D) Provides a framework to record events and
developments./awaﬁ 3R TR @ TS

HIA I TRET Y AT

Select the most appropriate option.

3fea faere g -

() (A), (B) and (D)/(A), (B) 3R (D)

(b) (A), (B) and (C)/ (A), (B) 3R (C)

() (A), (C) and (D)/ (A), (C) ¥ (D)

(d) Only (A) /Haa (A)
Ans. (b) : 9T & IR ¥ AfRE TWed a7 H wwrEr
e fawg & IR § Tow FTHEHN e a9 hell Sied
H Sted ¥ 9w wifud T 98 9ee fafse
& Y@ o9 §, o stia b Wil e i g
o srenfyen otqe fqenfdfai & om d=eE % SRR &
R WA I | T % A & 3R 3 & ¥ 3%
diferss e afdhs fic @1 &g 8 81 N.C.F. 2005 &
3IER, Tedi & a IRaT § e T AT
48.

Which of the following teaching strategy is best
su1ted to teach "éender sensitisation'?

wA-dt frgor-fafr ‘Siet

qﬁaﬁwmﬁu&;ﬁ‘éaﬁrqgﬁﬂw%?

(a) Discussion/gf=rat

(b) Demonstration/S&3i=

(¢) Lecture/aam@-

(d) Questioning/Je-fafer
Ans. (a) : S HIGHOT T TgH & o Far fImeor
fafer oR=mt 21 fen & Svew dadewor & erd @
wfgma ARl & IR 3B a1k AN It B G
Jifereh o WE e 3Gy ATl REE 39
ST SuaferEl W AT §E & HROT TG T 8 Geh | SeT
ki & ek QR # geegel dveE 21 fes
e & ufher & wftafer ot deai S19-faamers, e,
TR, UISaR] TH -l gHH-ared g1 weft
% FI TAIeThT I T & THM FGER @ Sl e
e % wE s a1 3 fame § a=dt % I
Hied B 21 et 3 & SFER F 2
49.

Which of the following strategy is appropriate
in promoting critical thinking in students ?

fm & @ &= @ wiife feenfdet o
ATETEATTS e & Weared & § o
IUgH §7

(a) Asking students to accept all information as

true. T gt gEet B @ e
ik HUAT|

(b) Making students to accept all the opinions of

the teacher./ faanffal @ areamess & 9R Aaqi &I
ik HUAT|

(c) Assisting students to_recognise biases. /
T TG TEE H HE FET|
(d) Helping students see a situation from a single
perspective. H "Rl & fah
IR § ST G|
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T B SIS I &7l SMqH gt S qeAieh
F F W AT 2

50. Which of the following methods of teaching
social develop learners ability to propose,

argue, counter argue and present facts and or
view points.

T | se-t wmires famm Rremr
farfer, ferenfelat &t wedTer o &I, Alfcher o8d
T I, FATST deh o Skt T qeIt ar foem
Y W& i I &OET Rl fereRfir wntelt 82
(a) Debate/arg-faamg
(b) Discussion/aR=af
(c) Field work/& &rd
(d) Project work/af@STT Hrk
Ans. (a) : dE-[Fame, e foagm foweror fafy, faenf=t
TG B HI, Afeheh TEH B I, TART qH < B
R Fga‘r a1 ol & T R A ewar B faea
FHA B |
Fre-foare a1 wgd fhdl v W ==l @ u SiTERe
fofr 21 ae-foae # & wem faule fem & guds
HYA-STGT T T § R g F FoE B GUSH B
F FIT F 21 IS faee wh VR 9 R @
S foreres qan =™ Tgartt &9 9 fdl guer a1 g
W e i 21
51. A social science teacher in elementary
classroom want to introduce features of

different types of rocks in her class. Which of the
following activity will best suit her objective ?

@t Uk rferent otoft wem o
‘Yt it ferdrwaTd’ fawa & & & &) o o
¥ & o fafaf suh Seva ¥g wed AT
e Tt 87
(a) Showing a model of earth's layers and
discussing about it./geAt H T Bl IS
Hed i f@H @ 39 W == BTl
(b) Explaining and reading all the features of
rocks given in the text book./dISITEIh ¥ &
TE Ve @ el S ge @ eHe

Ans. (d) : 9IS famT Y weh fferehr oot wem & At
# fagad ¥ geftm v W R W@ 81 e g
o b o Sl Bl ST q9T gl ST 3 Sl b
fersToenall b Uga FO qorT R H S S wfafafer
U I2YT 3] T S wew Tl 2

s o wHSt &1 fae 8, g9 awife ugfa &
YN T IS &1 LT a1 S 81 I8 g Te
qgEl % SRR B SR &l @1 U8 WA &
HATIFAS T ITH & T TRAE F g T B
IGH! TE AN I S IEL B B

52.

In discussing coastal landforms in India, a
teacher in Rajasthan could face pedagogical
issue of :

ARG & T TIARY Ugd g, A= & reren

Term SrarfoTer WO T WIHAT T Hehd &2

(a) Building context for learners /@l % fou
Hed g #

(b) Providing print
IUTH HH §

(c) Assessing students knowledge/SmAt Ed el

resources/SIYT TR

(d) Completing the syllabus in time /9I3IhH HHI
T QU HH |

Ans.(a):W%ﬁﬁHWWﬁ@IW%
et oE % g ged o # Seres e S 9
L Gohd 81 HD VeifTh guEd 59 YN 2-
(1) famen sl gEEsh T 8
(2) UISTHET § HaRIRbAT i HH
(3) WA TR & 3fihel H tfervag-rad
(4) T TOTERT H HH
(5) foerss weiem, fomrs & R iR wfyemwr, @
T 31 SeeH % R H FH |
53.

Which of the following are existing hindrances
in social science curriculum ?/QTHTRTR

ueweEt ® frefafiea & @ w o faemme
aend €2
(A) Existing
schools.
po
(B) Pressure to perform and score high
marks./3Te8T YS9l qoUT Ioo 3k YT

pedagogical practices in

(c) Ask students to collect few samples of rocks A HT T
available in their surrounding. (C) Lack of scientific inquiry and skill
39 SY-UME UIT SHeTel Sl H ghgl A building. TAT hivTer et
& fow T AT

(d) Bringing different types of rocks and then () (A) and (B)/ (A) 7T (B)
using them to identify their features and make
comparisons. /faf¥= JHER H Sttt e e (b) (A) and (C)/ (A) T (C)
TH TAN g9 el fAuivars @ ugEEe (¢) (B)and (C)/ (B) 41 (C)
AT G B F BT (d) (A), (B) and (C)/ (A), (B) @ (C)
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Ans. (a) : e § foomm Rror wEa god 3iR
33T Ye 91 3= 3Hh WW S K <dd, G
for et § faeee arend €1 39 YR S (A) 3R
(B) Tt 71

g fo9e ®1 e uewswn § owfe fen S
Iifew, ifes =g Rt i ardfas sem 3 qRftafast
Yo F &1 A R ardas gfver & waftm 2
77 el i o8 gHEe § Heg HIAT © fh TS Y A
FA 2| TS WS & GEA AW el SIS # ggEH
w21 fordl T Y fen & ey & e w9 H
Ted 31k qftehl 39 U % Sffad <9 el 2

54.

A discussion on National Movement in India,
with elementary school students, could refer to
sources like

uﬁwﬁmm%msﬁ%mw%@a
sriere & = o fore e et it Seaifaa
TR ST WehaT &

(a) Letters and official records from cellular jail

/TR ST % SR TEds S o

(b) Cave paintings (Rock paintings)/ﬁc"[ ISEEXCH)

(c) Verses of kabir/&siR E

(d) Ashokan pillar/3T9e &%
Ans. (a) : TS e & 26l & 999 9Rd & T
e @ a9 & AU AR S F MRS wEs
3R T B Seeifiad A ST Hehdl 21 S St femehe,
FAN o AR, TS W = e&aasi 9 Gaied 81 g
T S<ien § FE fueer T 21 9qer S sfend
frepa §9 9ge # Req 81 T oo % &N 8
HifcepRal H 39 S B @1 TN AT 3T A B SEHETA
qd Y SUES WHR N ST e Terifas
et @ faifed w % Seva @ foar S o
Hre— TR A HI HIATH & T8 F off ST S 2

55.

Main objective of using project method in
soc1al science class is

| fasT @ wem o wfrgreE fafr @
pPRiticaeiCa R tee icivo
(a) engaging students in bulldmg theoretical
knowledge. /franfdai =1 wmfss fosm &
Y1 99 % fmfor § e s
(b) saving teaching time in class./SMISTH o=
et | fYreqor W a=
(c) reducing the burden of teachers./SMHINTH
form fRrereh 1 4R HF HEAT
(d) engaging students in real life investigation of
social problemsff%l'ﬁTf@wr I ardgSs SaT |
QIR THEAST & e § Herd HE|
Ans. (d) : IS g & e | ufEeen fafr
T R H T kYT i & awdfs Sew §
g geest # Ste o ST 81 i
forqm o worelt freor st @ gfafved & § afEsE
fafer a1 <lmer freferfiad -

(1) @ Fréfem et  wream ¥ Gegd & SrEf 2 2
(2) FARHTT H AR T FIH FIAT 2 |

(3) forenfefat =t =maRite = Fa= FTr 2|

(4) 9@ a1t Sl Gisihd! § s&e T 2

(5) arefess e & @1y g § el 21

(6) 31 3R T A Feret sl Her 21

56.

Which cognitive process is assessed in the
question, ""What are the salient features of the
Indian Constitution" ?

frefafaa w9 § -9 AR Uishar &t
AFHE AT §? A dfauw W e
fargteaTd = 87
(a) Recall/&H{0T (b) Evaluate/W'f&’Ff
(©) Analyse/ﬁ?ﬁ’ﬁm (d) Create /gsq
Ans. (a) : “TROT § FEHS T(ehaT 1 Ahe gl 2| T8
T dfeuE g el §) wer (IR S
TR H, TG § SR A1 "eAsd ® I W S
&1 M, Safh YA B A TG B § TEE FH b (A0
TF faftre ha # wE A 81 TR B Al
faferr—
(1) @ fafy
(2) wforefier farfr
(3) fopan fafer
(4) f ffer
(5) fufsa fafy
57.

Which of the following strategy is not part of
group assessment?

e ® 9 -t wEtfy @9g eeeT @

fee =t 87

(a) Debate/are-fqarg

(b) Seminar presentations/@ﬁ'-"ﬂ( H’Fﬂﬁ

(c) Term end examination/S=id e

(d) Class discussion /&1 § ==t
Ans. (¢) : 9 qde1 FEHT T e @ feea &t
R, wafh am-fEE, WER s, s § = S
FEAfT T Sha &1 e 2
B e e
1 T gAY Gige 3R S B e WMfes She
2| SeheH H A qhH T % GRS Bived, TEdn
g e #t 9 dur Sedl & FaeR ¥ el 3
Tedl % e & T SEd SUI G ST @1 Sher
% G STcteht b ST T BT 9AT AT S 2
58.

Which of the following statement is not true
about continuous and comprehensive
evaluation (CCE) ?

e # ¥ @F-w @9 waq iR @

Teeh oh o W WEl T2 &7

C- TET Social Science (Exam date 06.02.2023)

25

YCT



(a) It caters only to the cognitive aspects of
students behaviour./ag faaffai & =raerR &
FI UHIHD TeT Sl SAATARAT Ufet HIT |

(b) Evaluation strategies are integrated with the
teaching - learning process. /qediehd Tt
freroT-a1ferT SfEhar & Q1 wamERle B

(c) It ensures all round assessment of the

students. /78 foenffai & waffor stise &t
i w2
(d) It provides timely feed back to teachers./dg
LAY B gHF W AYRE T B T
Ans. (a) : Tad 3N UF qedis [l & =reen &
el TS UeT 1 STATASAT 1 Il FAT 2| T8 T
T 8, S Tad R UF e & aR H oAb
wrfaEt e sftnm Sien & WY Ao 8, 98
ferenfifei & waffor stbem &1 ghafvem @ @ ok @'
AU B guT W ARYfe seH w § 7 o w2
JAd 91 A9 ol &1 374 7 IE & faeed s
i & yomelt f9od 3@ & fawm & a9 gy wnfae
M &
59.

Before introducing the topic 'Democracy’, a
teachers asks questions related to it. What kind
of assessment is she making?

Ak’ fomE W Y W W WA T

JTEATIURT heT W THY Heifd Yo= uzet g1 ar

fere oXE =T 3T Y W &7

(a) Assessment of per-concept /{Ef SIELIIUIEA)

e

(b) Summative assessment/JTTcHeh 3Tt

(c) Diagnostic assessment/af=eh 3Tt

(d) Formative assessment /TI-TcH 3Ticher
Ans. (a) : TSI YT B YE F T TG TH STEAMH
Fe H TOY TR gY gedt 21 98 qui-sTeumum &
bl AT dEdt 21 W & Mo i o1 ot
SR 3! fYreror safer i & SN foRan S @1 s
T 3 frenfdal @ gfaer & srER fwmr § gER
R e § gfg BT 21 T8 Fen § fremor sl
& WY e |
60.

A well designed portfolio should be .
Teh st avg W feamea feram wan wéwiferan

T Tt
(A) Purposeful and systematic./S%STI'lg\'U'f AR
arkerd
(B) Reflect assignment and activities of
student/feemeff & wew @@t 3R
Tt st Frareiterd s et

(c) Accumulation of a students work over a

long period of time./faamelf & we el
HHA G o W HT GeT=

Choose the correct option :

TEt farehed T o= it

(2) (A) and (B) only/&ddl (A) 3 (B)

(b) (B) and (C) only / 3&d (B) 3 (C)

(c) (A)and (C) only / Faet (A) 3R (C)

(d) (A), (B) and (C) /(A), (B) 3 (C)
Ans. (d) : TF 7= @& ¥ feomga fovar mon aidwiferan
sgevaqul 3R afed @M1 @Ry, frdf F wea wEf
3R wfefafedi & ufafsifad s aen @M =T 3R
el & wh ol gww @y & W w1 GHIT B
AT | TSR TH THR H RO HE a1 HZd Bl & |
o faendf 7 vt ot Mvifts ool T & SHh
&I ShHAeG ich U THO ohich TGl STl @ TIENoT oo H
el S af faafial i syafsy it sl & e 9
wfE § @ S 81 aewifer Rt # amrs,
foraml 31K SReaIv &1 THIUT Y AT 2| T NEHifer
el @ Shiheh T i &l @ SR A SEE e 2|

QU T TErivT W UgE U T YA HT ST
difs)

T # 7T IV 98 W 2| A, T A F_A
w7, faem F o § 9 ot swR # o=
et % Had # g S STeAr Sfed-be I B
I YT EgH H T W & W &1 u, W
w9 g dedl § wwiftd @ 98 a%R @I, gE-9% &
s fafy e 8, St el % smfearie & U,
39 fafdTe steR-wrEl (wfew) H, wem A& w9 ¥
T @11 SER-TE § g 98, &9 ° &4
T QU A @ & g, A g e el
Yo 1 g T e o £

79 dfhd @ 9K ¢ o g, wy-wel o e
FA B S-S H G Ay § o 5 s
F it # o9 WR | gro fFu gU A Fre-
W I FE Y T & g T % A 'S §?
g9, g4, U, §&, T H SO W Fad gC H
3% TR A W I 8 R o 3§ g %
fooer & &6 © a1 Wb, S 39 WG F A @ gy
# FE Furmer & " ¢ e e TR %, A
% el § o1 aret @t Bt uRfed g =R ?

S e e Fe-wE WoSHd W g,
F9 IRURE afesh STRIE STRR-91a (Fifew) H,
& T Ae-dio-g 9w T 3 TR W
R fafid €1 A 39, F WEA ¥ WER e
# A ST HAHE [FET F W 21 T8
foere FaRa T & WHT T&1, dfosw THR &
SABIeb-TrfsTs af & o | uRada & Hohas
ot 71
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1. ‘Ix'IsEE:

(a) &9 (b) dcaH

(c) 3¥ (d) faeft
Ans. (b) : ‘T TUH IE 2| SUHN dwd IS dig BT

3 v S G5pd ¥ Fed a = & o B v e
§ 3% deo" T FEd & |

frrafefiaa o @ TeEivr & MR W i |1
TRy T TE § ?

(a) I=R ¥ 987 3B 98 @I 8|

(b) T &F W 6 91 I 2 ™R Fed o |
(c) 3% TAR 3 o el el 2|

(d) gIg Pl Hre-wel W IHT I §

9.

2. ‘oaEH o faeH € Ans. (b) : T % AU T G 24 W F sem 1 2w

(a) smferta (b) TIfe TR Fed @0 §, a9 G A 21 T F FER

(c) 3id (d) e THH TE AT & - [T 8 W R v 1 g9 wew
Ans. (a) : ‘3G H o weg anfedte € g ™ e e o €| 9 faehedi o a1 @ €
ferehodt o wrsal o1 forelim wrss o 2- feT Tq SHIHATIT I UGRT B T WIA Rl ST

LI feretar ULy

afs - 3 = T = g

3AE - qdd a‘:ﬂqm@w

gaifed - I wiferg gt ek
3. ‘gUe V=W g E: A = el & T

(a) FI (b) T 3I9H IR a= | S

(c) (d) T sifer %1 a4 o1
Ans, (b) : ‘GIS ¥ H G, IU g1 IUH F VR g & TS
B €, o Pl TR % T R U A T R e D T
g1 g 39 ¥ 94 gU 3 VR §- TN, AV | =gt wgE S © Sl
4. foromeawmuagadie: et st aiel

(a) &9 (b) &fforar fafean &t =w @ firr gam & am

(c) ¥ (d) fomor G F TH R
Ans. (d) : ToeT’ &1 gatg ‘Fmior 7 € fmio @ @ e aigd & e e S
S & qAE & S 5w, affvn, A9, uae, faesw, |10, CEnferd’ veg o U=ty |
&, e onfy fmea & qafgarh v €1 (a) =T (b) forers
5. <RI QAT UUNT H¥ ot § ? OREE (d) fom

(a) 39 THT d o TWhT Ans. (b) : Tw v & wag T’ @1 @™ &

(b) & FA T o TR 3 qAg - g, T, o, Y, g |

(c) TEHSTH TN A TH 11. ‘oriet’ veg U i AT YT ¢ 7

(d) 79 & W (@) 3 ®) ¢
\Ans.(b):aﬁéwﬂ%ﬂﬁﬁwwmaﬁ% ‘ (c) = (d) fa
6. R & fade ‘smeR-wrel’ (WRE) W|[aAps. (c) : Tl veg § W ywm g1 A v g

Freafafaa o =i & - 3 TeE B- HEN, TS, Hed, A e

(a) A<= (b) TRl 12.  Hfatesh o At el o oeet § -

(c) forg-mrefdt (d) 3R for (a) S T TH THST  (b) HT H AR
An%éc):,éf a? % fér%gg Wﬂ% () ﬁm—mﬁmﬁ (c) F® die (d) frepies @t
& | I, Tt e . g
w%ﬁﬁmw—%ﬁ(ﬁﬁg%m% \gns.(g)ﬁmwmmﬁ@ﬁmwwﬁmﬁwmmw

¢ ) : ¢ E\

7. 39 ' 3MMkRR-wIET (u\ﬁ%ua)ww%:ﬁg ST B T T
(a) ATA-dTAT-80 (b) BU-Aer-T%3T : -

(c) Trean-drer-fren (d) Frefr-shre-ere e & 5

‘Ans. (a) : T ‘HR-9ET (AEE) & TN Aed-Gre-24 21

8. 'IMHI-HET (HifeH ) | Uaferd HifeH § :
(a) TEISH-TSAGS  (b) AT
(c) wfHe-3T eI (d) wTHfas

Ans. () : ‘SHR-9ET (AfeH) § Fafed miew ‘enfifs -
ABIH 7

(a) STATHETE TEHT T TH BT
(b) T 3R ¥ F 3w Red H SwR
(c) SPfT & &ROT T AN
(d) Trpfde HuaT S @l
Ans. (b) : T 59T O A €, SHE @1 TF el U
gﬁwmﬁwﬁ%wﬁsﬁﬁmmﬁﬁ
|
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14. UEA wigar & dWed ¥ fFE R & Sorw
T ?
(a) T FieAl (b) ¥U HI TR
(c) TRer & & & FH (d) Fafeai i Tg=mre
Ans. (d) : Tq Hfa@ & ded ¥ Fafedl 3t TgaeRe’
R H 3o Tel 2|
15. Hfear ¥ o9 & IS | ogd & @G @
BTI'S'IT[%:
(a) afa & fodt aigd &t enfem @a A @9
(b) &Gl T T A T A
(c) AT & I 3 g ¥ agd a1 A der
(d) STE & =9 ST F Tgd T B &
Ans. (a) : Ffaar § 99 & FOR § aGH F d9g
e st § gt Sgh S enfen @F # w2
16. Tr=fafea & ¥ -1 fagea s
E@gzoos%ﬁaﬁ%mﬁq@ﬁﬁwﬁa
& 772
(a) T i oo™ ¥ IR & Sfed S
(b) T& GG FE fh ARrm A e W)
Aeia 7 &
(c) TSIl B 3T TER Y GUG BT {6 98 S &
T T § HeE 3R WISy i 7 &
(d) T HeHIIH ST i GfHeh A
Ans. (¢) : THT UGI=Al ERET 2005 & G FETH
fag=l # ueT=aAl # 39 YR ¥ GYG BT {6 98 aeai
* guy faehrg # weg i 3N U GEH hsd 7 @
et 78 2
17. T o SE I Seear3tt o o e 82
(a) S faT= R = =
(b) e fam oiik ot fagme
(c) &t fagm, el fagm, are famarg ot ard
ERIE)

(d) a1 =g, el faem o o fagm
Ans. (a) : I &I SFAESTRA oFeenst § eafy fage 3k
R faeare et 2
18. Tereeh gmr fonamf¥an =t =i SIfirRtett &
e o fomr fafdte doul d @ex wmor %

AT o 3TaEY fou =i § 2
(a) 3fr=afth (b) fagerem
(c) Ta = (d) SRR

Ans. (a) : 3= g Fenfd @t safema aftest &
g & o fafde gedf & oo W1 &% YA F AW
fear 59 21
19. ‘oo ATHT HRES @ SIHAT o |1 UaT e sl
TE&Aq: g fehaent foem §7?
(a) TS UH, 9T (b) fa GaelE
(c) ieTm Afeght (d) S foasr
Ans: (c) AT TEH & TR = 9 @ H
T % 919 U1 B R

20. ‘99 =e @ 3R fw § i wiftfen @t uw

HTET-WART Y&Aq: T 3T Fehel YT &7

(a) SO ) SBE A 8

(b) =t & A FEAET

(c) TT-SETT § STHEHE!

(d) T S GHE T g
Ans: (a) ‘04, =€ T R O 49 41 vt &1 @6
G AT 3G AU I T FHER 7 B
T ahd L @1 2
21. ToRaa o & witer § el Sl Warar o ¥ —

(a) el TSH-HIYIA I AEE Bl &

(b) = STy el S G S §

(c) F=dl B T & gEAfcIiad T B Ug FH
AL 3T AL (S FT 3T
fireren @

(d) = g % fommd § oRferm 8 €

Ans : (c) fdRaa @t & Stg & s==i # FeEar o 9
el F TR F gEciad g F UG H AW SR
AT & H (B FT AR o 3 UH B
et H o q@dl % foRad St & Site s 1 i o
T 98 SUS! SR 3N Ir=Edl B I Whi e 39
7ot o FEE B G B FT AT I & TR

22. CARINCT sh HTET et heIT3T | T foam ST

wfeu, Fifs —

(a) MG HT Sl T q-RE0T F1 TeT 329 2

(b) I T ST Fehel &

(c) Had WAHMC &k WEAW T URERE gl @
e & S "ot @

(d) T T=4 S et § aRfad 8 8
Ans: (d) S I FEHA faowarst ¥ uRfad U4 &
o eiemifidl s A S FHemsti § wWE I W s
AT FAR 2 T SRl F aRars 2
23. UG UG ool | Y9 o g™ H —

(a) 39 TG &1 I Feidl @ b = Jyearas veal 9

aftfrd @ a1 e

(b) RTerh &1 98 ST 1 ae foerdr @ foh sl 3
TS I bl TeUE § wHE 7

(c) Fan-wel # e IRk g e &

(d) ¥ M I 3ed 1 A g 2
Ans: (b) TS TgH =l § YT I9aH 9 e & 9
I T R oA & o6 sl 3 U8 @ Rl e
T g 2|
24, TeREt WTOT HEAT W FHETT-h AT hi MAVIHRAT h

T § hiA-91 aeh sfera TEl 872

(a) Toft st BT AT G 1 R fer § |

(b) wgﬁﬁﬁwﬁwﬁr@ﬁ@%ﬁﬁ
&

(c) el B VE-HUSK % fHehrd & ST T 8 2|
(d) T el S E-SFIER Foa-eith B

g
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Ans: (d) fFT a7 e H e HAT F FTTIHA F
oo | ag e f6 ot a=ai @ & STER Hed
TRE &1 o B 8 3fd ab Ad &1 S W P
FHET FEH HIT T Tedl & Vo3 qUSR H I g aen
I O G F URAW & Y-y IAh AR A
&7 7 ot far e

25. TUAA. TH. AR oh AMTAR—

(a) o farmer ot FrafRe e @

(b) feee g =i fraffRe s 8

(c) 1 T fode TH-gR ¥ W= &9 9 fosfd

&

(d) W T ARl e @
Ans: (d) TA.UH, aENEH & SR A9 TH TS
I &1 A Teh HHIASIS o1 SHA Sl %
TS foehr o Trafved fagia &1 Sfaures foman s
AT ST @ T oo % foehE § WA 1 & AEE
2 3R 3ud 59 YHR & qRadd S &1 98 FeT § %
T R & W= § Fad e YEa W & A
I @1 @ W AR 21 Seifeh W eri S e st
¥ S g @ i W S ¥ Y™ § 8H
diEr @ S wm AR ¥ aeqd @ g o g © §
BN 1 GRAY AT Herg iR faega @ A & e
a7 G H G & |
26. ToT-foterur & W W HiA-TT1 YT TE T 772
(a) STH-375H 3 qToT-3TRATT H SR g 8
(b) ATT-fregor § Faet AR YEA W & AfEE ad
w7
(c) 9 Yrad H o7 fawdl @ STedeH-sTEATH
e Bl 2
(d) Tgg A-IRaS q AR F H GerEd e 2
Ans: (b) 9T 0T F g § am o § Faw
T GRd R & I @Al § HYA T A 7 e
oI SR % Y- T fquE & eTeHgT SfeA o
Teras Bl 2 |
27. Ueh SgHhiceh USHH AT hall § 9reT e
% OR H hiA-HT faem st 872
(a) STferamIfee qeahl o1 fmioT fopar ST
(b) 9 f@Em & forg saefors fml @ ek
NfeeRIfees FEMT BT =T
(c) 9T uRayr & fmfor fFar S A amr-stei
I e Rafg 5= g%
(d) s=di H 9 e oA aeigde et
FT B 7
Ans: (¢) U5 IgHIEpiaes Jogfiy el wem § «mo 9Es
% oo wmon aRast & fomior fhen s a@ifss s el
F Hes Rufy a9 Th| HifF 9 a6 = B AW
g & Hfad aER A6 e a9 9 e ded
FI g Rafad T a9 Fedl |

28. el faenr (2tffefies fewiisy) o sreen—
(a) 319 TU-N e § SR F T F3T 7
(b) MRS ef:fpar o womor # SR &

ST F &
(c) 3R @M ¥ HAT HT 3T 8
(d) @19 & St § oA w2

Ans: (b) @oH faer (fefes fewidy) & o=

T SR IR T H HIAE B SHE HA &

29. ToT-TITLIUT T THHUTE SUTTH —

(a) e =TS I SN W e ol 8
(b) F=d F IE-FAT H FEIAA W TS AT 7
(c) WIGHTST-SENT Sl Fver e 2
(d) AT BN T e ol 7

Ans: (b) 9T fYRI0T % TENUTRE UM T H o

T Y P W A AT AT IO FHT FEIHRS

IUH 21

30. wroT-fTerur @ s-wt ffir argeTsT S geER
AT formT et s =Ry R W oot et €2
(a) feumia fafey (b) 3reme fafy
(c) AR TH 3rare faftr (d) sewey faifer

Ans: (d) 9T 3T & yeer fafer wgam @ qeAy

T fom guf amn B ded WA o @ S e

fafer o & g & T T 2

ENGLISH

Read the passage given below and answer the
follow :

1. I was born into a middle-class Tamil family in the
island town of Rameswaram in the erstwhile
Madras state. My father, Jainulabdeen, had neither
much formal education nor much wealth; despite
these disadvantages, he possessed great innate
wisdom and a true generosity of spirit.

2. He had an ideal helpmate in my mother,
Ashiamma. I do not recall the exact number of
people she fed every day, but I am quite certain
that far more outsiders ate with us than all the
members of our own family put together.

3. My parents were widely regarded as an ideal
couple. My mother's lineage was more
distinguished, one of her forebears having been
bestowed the title of 'Bahadur' by the British. I
was one of the many children - a short boy with
rather undistinguished looks, born to tall and
handsome parents. We lived in our ancestral
house, which was built in the middle of the 19th
century. It was a fairly large pucca house, made of
limestone and brick, on the Mosque Street in
Rameswaram. My austere father used to avoid all
inessential comforts and luxuries. However, all
necessities were provided for, in terms of food,
medicine or clothes. In fact, I would say mine was
a very secure childhood, both materially and
emotionally.
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4. I normally ate with my mother, sitting on the floor
of the kitchen. She would place a banana leaf me,
on which she the ladled rice and aromatic
sambhar, a variety of sharp, home-made pickles
and a dollop of fresh coconut chutney. The
famous Shiva temple, which made Rameswaram
so sacred to pilgrims, was about a ten-minute walk
from our house.

1. Kalam says his father was not highly educated
but he was :

(a) kind and generous

(b) generous and charitable
(c) generous and wise

(d) hard working and religious

Ans. (¢) : According to the passage first, the corrent

option is (c).

Kalam says his father was not highly educated but he

was generous and wise.

Thus, the correct answer is option (c).

2. The fact that Kalam's parents were large-
hearted can be evinced from the fact that :

(a) they were popular in Rameswaram

(b) they had a lot of people visit them everyday

(c) everyday they welcomed even strangers
during meal times and fed them

(d) they gave away clothes and medicines to
people in need

5. From the passage we can infer that Kalam's
father was
(a) very strict, serious and a disciplinarian
(b) very simple and avoided luxuries
comforts
(c) committed and sincere in whatever he did
(d) difficult to understand and was mysterious
and grave
Ans. (b) : According to the passage third, the correct
option is (b). We can infer that Kalam's father was very
simple and avoided luxuries and comforts. However, all
necessities were provided for, in terms of food,
medicine or clothes.
Thus, the correct answer is option (b).
6. We know that Kalam had a happy childhood
from the fact that :
(a) his parents were an ideal couple
(b) his parents were both tall and handsome
looking
(¢) his childhood was secure both materially and
emotionally
(d) his mother fed him herself everyday
Ans. (¢) : According to the passage third, we know that
Kalam had a happy childhood from the fact that :— his
childhood was secure both materially and emotionally.
Thus, the correct answer is option (c.)

and

Ans. (¢) : According to the second passage, the correct
answer is option (c).

The fact that Kalam's parents were large-hearted can be
evinced from the fact that : very day they welcomed
even strangers during meal times and fed them.

Thus, the correct answer is option (c).

3. Kalam mentions that his mother's lineage was
more distinguished. This means that :
(a) she had a better family background than his
father
(b) she was better looking than his father
(c) she was more educated than his father
(d) she was more respected in society than his
father
Ans. (a) : According to the third passage, the correct
answer is option (a).
Kalam mentions that his mother's lineage was more
distinguished. It means that - She had a better family
background than his father because one of her forebears
having been bestowed the title of 'Bahadur' by the British.
Thus, the correct answer is option (a).

4. The phrase 'undistinguished looks' means :

(a) outstanding looks

(b) below average looks

(c) average looks

(d) handsome looks
Ans. (¢) : The phrase 'Undistinguished looks' means —
'Average looks,' which means — 'they are not ugly by
any means but also not stunning to look at, or nothing
special.'
Thus, the correct answer is option (c).

7. Rameswaram is famous as a place of
pilgrimage for the Hindus. The underlined
word is an example of a/an :

(a) preposition (b) adjective
(c) adverb (d) noun

Ans. (b) : In the above given sentence, the underlined

word 'famous' is an 'adjective', a part of speech that can

be used to describe more information about a noun or
pronoun.

In this sentence the subject, 'Rameswaram' is modified

by adjective — 'famous'.

Thus, the correct answer is option (b).

8. The word 'sharp' as used in this text means :
(a) nutritious (b) sour
(c) harmful (d) tacky

Ans. (b) : In this passage the word 'Sharp' is used,

which means 'Sour' because he told about rice, aromatic

sambhar, home-made pickles and fresh coconut
chutney.

Thus, the correct answer is option (b),

Read the passage given below and answer the
question that follow :

1. In January 2018, I was travelling from Brooklyn
to New Jersey. I have two little children and a
busy consulting business, so a quiet train ride felt
like mini-vacation. Yet I found myself spending
that precious time scrolling through my social
media feeds. One day, I put down my phone and
started writing thank-you notes to people who had
contributed to a fund-raiser I had organized
recently.
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2. When [ got off the train that day, I was in a
noticeably better mood. The next day, I wrote
more thank you notes - and felt the same
afterglow. When I finished writing the notes, I
counted them up. There were 31 in all - one for
every day of the year so far. Something clicked in
my mind. I wondered, what if I continue this
practice of writing these notes. I decided to write
one thank-you note for every day of that year.

3. I soon realized that I had no shortage of people I
was grateful to. So I picked out a different theme
for each month to keep on task. January was
charity - and, thankfully, I had already completed
that goal. I quickly learnt I couldn't write the notes
while listening to a podcasts. Focusing on one task
at a time(in this case writing notes), felt
refreshing. It was good for my brain, which had
been trained to wander, darting from app to app on
my cell-phone. Looking at a blank page with a pen
in hand, felt almost meditative. I soon realized that
writing thank-you notes was time spent on
something purely positive.

9. The train ride felt like a vacation because :

(a) it gave the writer some personal quiet time

(b) it was the time for the writer to talk with other
passengers

(c) it took her through some scenic spots

(d) it was very comfortable and luxurious

Ans. (a) : According to the passage first, the correct
option is (a). The train ride felt like a vacation because
it gave the writer some personal quiet time.

Thus, the correct answer is option (a).

10. 'Precious’' in 'precious time' is used as a/an:
(a) noun (b) verb
(c) adverb (d) adjective

Ans. (d) : The above given word 'precious time'
'precious’ is used as an 'adjective', used to modify a
noun or a pronoun. It is used before the noun or after
the verb.

Precious Time
J J

Adjective Noun

Thus, the correct answer is option (d),.
11. The writer decided to put the time the train
ride took to good use by :
(a) planning a fund-raiser
(b) checking out her mail
(c) posting feeds on social media platforms
(d) thanking people who had donated to her fund
raiser
Ans. (d) : According to the passage the writer decided
to put the time the train ride took to good use by writing
thanking people who had donated to her fund-raiser I
had organized recently.
Thus, the correct answer is option (d).
12.  Writing notes made the writer feel :
(a) superior (b) egoistic
(c) happy (d) beautiful

Ans. (¢) : According to the passage , the writer started
writing thank-you notes to people who had contributed to a
fund-raiser, writing notes made the writer feel happy.
Thus, the correct answer is option (c).
13. The writer says 'one day for every day of the

year so far' because she had written them :

(a) in the first month of the last year

(b) for 31 days

(c) December 2018

(d) January 2018
Ans. (b) : According to the second passage, the writer
says 'one day for every day of the year so far' because
she had written them : for 31 days.
Thus, the correct answer is option (b).
14. The writer did not find it difficult to continue

writing her notes because :

(a) she realized she loved composing then

(b) she was very expressive

(c) she had no dearth of people to thank in her life

(d) she wanted to make a good impression on her

friends and family

Ans. (c¢) : According to the passage' the writer did not
find it difficult to continue writing her notes because
she had no dearth of people to thank in her life.
Thus, the correct answer is option (c).

15. I was in noticeably better mood. The
underlined word in the given sentence is an
example of :

(a) verb (b) pronoun

(c) preposition (d) adverb
Ans. (d) : The above given sentence — 'l was in
noticeably better mood', the underlined word is an —
'Adverb', a word that modifies - a verb, an adjective and
another adverb.
In this sentence — noticeably (adverb) modify by an
adjective (better).

'noticeably better mood'
2 v
Adv. Adj.

Thus, the correct answer is option (d).

16. Which among the following is not TRUE about
the feature of Simulations ?

Noun

(a) The individual participants retain their
identity while reacting to the given imaginary
situation.

(b) Simulations usually work in small groups.

(c) These provide the learners with an
opportunity, to gain confidence when
speaking English.

(d) In simulations there is unlimited use of
language and an unlimited scope for
expressing emotions.

Ans. (b) : All the above given option is true except option
(b_ 'simulations usually work in small groups'. It is the
imitative representation of the functioning of one system or
process by means of the functioning of another.

Thus, the correct answer is option (b).
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17. A learner in the city of Srinagar opts
Malayalam as her third language and is able to
speak and read it within a year through her
classroom exposure and interactions. What is
this known as ?

(a) language learning

(b) Language acquisition

(c) language addition

(d) Subtractive bilingualism

Ans. (a) : This process is known as language learning-
Language learning— It is an active process that begins
at birth and continuous throughout life. Students learn
langauge as they use it communicate their thoughts,
feelings and experience establish relationships with
family members and friends, and strive to make sense
and order of their world.

Therefore, option (a) is correct.

18.

Which two of the following are true as per
current understanding of language learning?
(1) Errors are learning areas.

(2) Errors hamper language learning.

(3) Errors should be corrected then and there.

(4) Errors are feedback for the teacher

(a) 2and 3 (b) 1and 2

(¢) 1and 4 (d) 3and 4

Ans. (¢) : In applied linguistics, an error is an
unintended deviation from the immanent rules of a
language variety made by a second language learner.
Such errros result from the learners' lack of knowledge
of the correct rules of the target language variety errors
are learning areas, & it is a feedback for the teacher.
Hence statement 1 and 4 are true.

Therefore, option (c) is correct.

19.

Procedural knowledge in learning of grammar

is know as .

(a) analyse one's errors to learn language

(b) understanding how a (grammatical) form
works and applying the same

(c) learning the rules
reproducing it later

(d) understanding how a grammatical form works
from a grammar book.

of grammar and

Ans. (b) : The two motions are similar to Chomsky's
distinction between competence and performance, the
first referring to the factual knowledge of a language
(grammar) and the second to the actual ability of using
language. The concept of declarative and procedural
knowledge is based on the view of language.

Procedural knowledge is known as understanding how a
(grammatical) from works and applying the same.
Therefore, option (b) is correct.

20. A short story is a
(a) Descriptive writing (b) Analytical writing

(c) Narrative writing (d) Comparative writing

Ans. (¢) : A short story is a form of narrative writing
that has all the same elements as novels— plot, character,
development, point of view, story structure, theme —
but are delivered in fewer words. For many writers short
stories are a less daunting way to dive into creative
writing than attempting to write a novel.

Therefore, option (c) is correct.

21.

Multilingualism as a strategy in a language or

content classroom is

(a) Making use of the languages of learners to
teach-learn languages and content subjects.

(b) Teaching-learning of many languages which
includes mother tongue, modern Indian
languages, classical languages and a foreign
language.

(c) Teaching-learning of as many languages as
possible.

(d) Learning the mother tongue both as a
language as a medium.

Ans. (a) : Multilingualism (multilingual classroom) is a
classroom with learners having more than one
languages at their disposal (irrespective of level of]
competence), including learners from migrant
backgrounds, such as first & second generation and
newly- arrived immigrants and refugees.

This strategy makes use of the languages of learners to
teach-learn languages and content subjects.

Therefore, option (a) is correct.

22,

Learners undergo the various stages of writing
. what is this approach to writing known as ?
(a) Product approach ~ (b) Process approach
(c) Paragraph dictation (d) Personal writing
Ans. (b) : Process approach— A working process
approach is based on the principle that if students
receive formative feedback during the process of
writing than their final products will improve. This
approach to writing known as process approach.
Therefore, option (b) is correct.

23.

Here is a teacher who divides her class into
groups of four and allocates a number of
themes/ topics to each group to work over a
period of three months and to write and
present the report to the whole class. What is
the group activity known as ?

(a) Group work (b) Assignment

(c) language task (d) Project work

Ans. (d) : This kind of group activity is known as
project work it is a work which focuses on completing
a task. Project work normally involves a lot of resources
— time, people and materials and learners practice a
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range of skills and language systems. A group of
teenage learners work on a project to develop a series of]
posters on how to protect the environment.

For example— build a garage, develop a website, go on
vacation, organize a party. Therefore, option (d) is
correct.

24,

What is the following typology of question
known as ?

Imagine you are the son in the story and write
your feelings in your diary at the end of the
day.

(a) Descriptive writing

(b) Extrapolative writing

(c) Autobiographical writing

(d) Creative writing

Ans. (b) : This type of typology of question known as
extrapolative writing — it is about taking facts and
observations about a present or known situations and
use them to make a prediction about what might
eventually happen.

Extrapolation comes from the word extra, meaning

"outside" and a shortened form of the word
interpolation.

Therefore, option (b) is correct.

25. major aim of teaching -learning poetryis .

(a) enjoyment and appreciation

(b) Learning the art of writing poetry
(c) Language learning

(d) Learning vocabulary and grammar

Ans. (a) : The major aim of teaching poetry is
enjoyment and appreciation. Poetry has tremendous
appeal for children and it is the best way of exciting
their love of the language. It lays the foundation for the
appreciation of the beauty of the language. It enables
students to enjoy recitation in individual and chorus.
Therefore, option (a) is correct.

26.

It is expected in a language classroom that
learners work in and work with language. This
is .

(a) Learning the forms of the language

(b) using the language with accuracy

(c) engagement with language

(d) acquisition of language

Ans. (c¢) : This is engagement with language. In the
context of language learning and use, 'engagement with
language' (engagement) is a cognitive, and/or affective,
and/or social state and a process in which the learner is
the agent and language is the object and may be the
vehicle (means of communication).

Therefore, option (c) is correct.

27.

An ' authentic text' is .
(a) a text/ narrative written by textbook authors
(b) an original of the text from context

(c) a completely modified and contrived text
from the original writing

(d) a story and pictures drawn by learners as part
of their assignment

Ans. (b) : An authentic text is an original of the text
from context. Authentic text may be thought of an any
text that was written and published for the public.
Journal articles, blog posts and novels are just a few
examples. Authentic texts are written for 'real world'
purposes and audiences: to entertain, inform, explain,
guide, document or convince.

Therefore, option (b) is correct.

28.

Basic Interpersonal Communicative Skills

(BICS) refers to

(a) language needed for conveying abstract ideas.

(b) Language needed for communication by
young learner.

(c) language needed
communication.

(d) communicative language teaching

for here-and-now

Ans. (¢) : Basic interpersonal communicative skills
(BICS) refers to language needed for here-and-now
communication.

It is a language skills needed to interact in social
situations, for example— when chatting to a friend.
Therefore, option (c) is correct.

29.

Language assessment is oriented to

(a) Measure the achievement of learners.

(b) find the place of the learners in their class.

(c) measure their overall or
achievement.

(d) measure the language proficiency of learners.

summative

Ans. (d) : Language assessment is oriented to measure
the language proficiency of learners.

Learning oriented assessment (LOA) is a systematic
approach to language learning that uses formal and
informal assessment to : help teachers and learners to
plan learning more effectively, measure progress,
identify areas for improvement.

Therefore, option (d) is correct.

30.

What is 'content oriented language inputs'?

(a) Inputs which focus on how language is used
(b) Vocabulary, pronunciation, grammar, etc.

(c) Presentation of the inputs and its processes.
(d) Language inputs which focus on information.

Ans. (d) : Content oriented language input focuses on
information precisely competencies to enhance in using
the language linguistic competence guidance from the
teacher and another source on vocabulary pronunciation
and grammar. Discourse competence appropriate things
to say in specific contexts

Therefore, option (d) is correct.
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Solved Paper with Explanation

(Exam Date : 03-02-2023)

(Time : 2.30)

1. Which of the following is an example of gross

motor skill?/fr=fafaa o 'él?{)‘-r

T TRIVTEAT T IETEXT &7

(a) Sketching/fe ST

(b) Holding a needle/qg g

(¢) Walking fast/dsl =T

(d) Putting beads in a thread/smT H Tt T
Ans. () : A B & d J It TAfAREt el §
ST farey oot aegedt, @, W wr W Wk % SIRF w@
Zl el & 9 JE, T T FoH, S ao], deT

3 e M et HIvel & IR & |

2. 'Proximo-distal' principle of development
suggests that development proceeds from:
Taenrer &t ' fagr= srarar & foR e
form 2T & fore T sgar &2

(a) Complex to Simple/Sfed ¥ T

(b) Head to Toe/fR & T

(c) Center of Extremes/&5 & a1l

(d) General to specific/am= ¥ fafyme
Ans. (c) : [9&HE & UM’ f@l@r—d%’aﬁw?
fo TR & F5 § qEC F S @1 § A
e Fie g, R ged o T W § faew
Al SR S- e B T2 B ¥ Ued ded #
T, T gl o W 1 e 9 ¥ wed o R
e drd & 3 Wit s Ry &1 WE A 2
3. Which of the following are secondary agencies

of socialisation?/fF=feiflgas # ¥ HA-¥

HraTteRtuT o fgeiere s &2

(i) School/ ferEmeT™

(ii) Books/ferarst

(i) Media/tfifgar

(iv) Parents/dTaT-Toar

(a) (1), (iv) (d) (), (i), (iv)

(c) (i), (iii), (iv) (d) (@), (i), (i)
Ans. (d) : f5aes gt 39 sfhar # gafid & 8
S o B A § e, PEe S weRd wE o
A ¥ YE ST 2| Tg 7 Gl & Sl el SR &
TWOT F ToRaT § R gRueear # S @1 fmreE,
7 wifgar gmeie & fGdas &8s § o 6 o= &
Wﬁ%ﬁﬁﬁ{ﬁ%ﬁﬁ?@%w?lﬁﬁaﬁﬁ&ﬁ

&%%i@

Tl AEEl SN WEel B e A § q9r s &
meqn § g qfteerel & R § ST bt i
forefia & § Haw e &

4. According to Jean Piaget's theory of Cognitive
development, at which stage, most children can
'operate on perations' and develop hypothetico
- deductive thinking?

S s d9mmee faem & fag= &
IR, fore sraeen § TRk e Aisharett
W feRait’ & orTd § 3R A ufieheuHTaaes
frrraaTenes wrer faenfiaa &t ot 87

(a) Sensori motor/Hag! A

(b) Pre operational/38 s

(c) Concrete oeperational/ﬂﬁ BIERIRECS

(d) Formal operational/m GfehareHeh

Ans. (d) :

dfchare eaver § st d=d wHfhare W R

FA WM § AR I uRebeqs S |

S T TH ST ST TihATHD STER

£ ST 11-15 9 S g & Sl § e 2 3

3R A1 G % wem g g S
Wﬁﬂ?ﬁ%ﬁ%ﬁﬁwﬁtwaﬁwﬁ?ﬂ
Froet fsRfe & ST 21

Jean Piaget gave importance to
process of learning.

S s 3 arferm @t wfeRen o foRd e

fear 82

(a) Readiness to learn/HI= & foTw aeatar

(b) Negative reinforcement/TehlTcHh WFH

(¢) Competitive feelings/Sfe@mft a1

(d) Functional fixedness/amaicTe R
Ans. (a) : ST9 I 3 Rrm &t 9fper # dem & forg
TR B e faan 7R S 6 st 1 p© Sraemond
@ T Fa fqerE I 9t 59 a% 5 3 geees

wn

in the

fohre o ITIH <1 T AE TG S |

6. Amarjeet considers rules as fixed and
advocates that everyone should follow rules
irrespective of their personal situations.

According to Lawrence Kohlberg's theory of
moral development at which stage Amarjeet is
at present?
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st framt et fier et € 3R 39 o it
sy ot € T weft & 3= femt @
STTEAUT AT WML, o8 ek AR Reafa
fereft oft yepm =Y o= T BN ARG wigeTeT &
Afeer foere fagia & 19UR, SmRSid 3@
T fore srawen § 872

(a) Obedlence and  punished

STRHIRAT 3R 30 It

(b) Instrumental purpose orientation/JHTa EEAD

orientation/

To enhance student's cognitive development,
Lev Vy otsky advocated for

forenfeter & W o 3 ST fe
W et foReeh shataae i e
=t 77

(a) Social isolation/HTHISTeh GeeFhIehT0T

(b) Use of culture tools/HEpfdeh ST T FANT
(c) Rote memorisation/s3€eHTuT

(d) Passive imutation/Ff5Fa 37RO

SRl
(¢) Good boy-Good girl orientation/3=T TgHI-
=S TS Il
(d) Law and order orientation/sI< - 3N e
St
Ans. (d) : TR HEATT & Afdh fGHE (AT &
IR, AT H A e IHEHT ey F |
39 e § g e iR A R fwuifa s
21 =AR6 39 w01 § G B % T a8 39T W
WM @A O g a0 IHh e vl g % @y

Ans. (b) : Frafde & damTEs faem & dada & fou
T IS WiHfh ST ok FANT H ST A
3 ot aamn f5 9 WA g e W i
IUHWT ¢ S 5 aers & o # v w9 9 wgeyel
21 AR % SFER e G 6 R % g
T B ST HAT & AU TIH IR THITER F WY
WER A e ¥ draa @ e Bawey S
G, TR 9 SIS [ 8 81 o7, ae®
* wlgm fopre & wWitpfas SR H @yl
AR 81

g Hay % fER ¥ oY & S 81 39 W § =fe
T8 A o § 6 fEm SR FA wmifer sAeRer &
T & S o6 SRE F A 81 TEEIER ST
foraret o1 Rem W 8 R 39 a1 A SRR S 8
woft B 9 R #1 W w9, 9w’ S
e Rafy freft off vor & =& T 2 S F FEE

9. Progressive educiton places at the
centre of teaching-leaning process.
Torerur-rfenm wfehar & & o
ferdt worer Tt &2

(a) Students/fermef (b) Parents/31H¥1de
(c) Teachers/31€19h (d) Exams/agemd

N ST SNIEIHT ST Y HI B

7.

During a group work in class, Ramesh finds his
students struggling to solve a given question. In
order to scaffold them Ramesh should.

wHeTT | WHE H1e o TR, W 7 @0 & 360k
ferameft fqw T wow " B go W 9@ W/

Ans. (a) : Tfaeie f¥rer 3=, sfasr 3R Siera &1 3w
R GE H I W, AfE fawE B oagEr I qu
AR N IS I & Y G F 3Ry a=at
Tewifed FTt €1 F T I et ¥ e fenfat
%ﬁmsﬁiwaﬁa@ﬁmaﬁéﬁ%m fieer feren
fmqor- e s F Fx § fdf 91 @ g

foenfifa &t WEET o & fAT W @ R

AT AT ?

(a) Tell them to copy the answer from book/3%
T&% § IW A5A F¢h @ & g wa
e

(b) Ask them to withdraw given assignment and
move on next task/39 Jed HE H m
ISt & FE & AT FET AR

(c) Given cues and hints relevants to the
problem/S¥H ¥ Taiferd Teh 34 =Y

(d) Complicate the question by ambigous
intructions/3Tq8 f&¥T g S I S s

& =T

10.

Ahmad wants to became a Psycho - therapist or
Counselor. As per Howard Gardner's theory of
multiple intelligences, his teachers should
provide opportunities to enhance his
intelligence.

TENE WARSUSRSE AT GUHIterar (e )
FEAT ATEAT § BEE MR & SEU dfg
THEIT o FTTAN ST ILATUHT ohl IHAT T
g o HaGA oh AT I ATEY?

(a) Spatial/znfs

(b) Naturalistic/SThfdsh

(c) Musical/S T

(d) Interpersonal/3T=iaaftheh

Ans. (c) : & ¥ GUE & &% dH, WY T 3G 3TH
ferendff faw @ o7 1 7 e § @ w &) fanfiE @
e &4 o T WY & Y9 T el Hehd 34 @I
gt gerar @ fendf e &1 Sl ga ded #
T & U il Gohdl & WeAd ¥ S WAl & gefad
W?Waﬁ%ﬁsﬁ@t—ﬁwmwm@
Sickd

Ans. (d) : 3TE9E THISTENS a1 YRS (HISHA) =T
Tl 21 gEE MER % SgfaY dfs faE F eER
I STEAMHT FI ITH FAANDS 5 H GIGT b
HIW I AR FifF Faated 5 at Ae amt
F AR 9 YIS #1 9 H e e §) g
ST, e, e, SARer, wEeie S S
et vt 2 |
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11. While practising

teacher should .

HEANTHeh TR T A hid A

STEATUSR Skl SFRIT THIAT TR ?

(a) make same ability based groups/Ush HHIH
AT e TRl S fmioT)

(b) instruct students to follow only prescribed
procedure/fafda i Haer FeiRa qfsmar @
STTEOT A T fder &)

(c) restrict use of discussions and debates/=atait

R are-faare & FAT i Sfqstud S

(d) make groups of diverse learners/fafay
forenfea & wwg s

Ans. (d) : JEANTHS ARAH H1 HEEIT HA q9T
stes i fafay frenfdei & g @M =g e f
d TH-IWN U FB 7 TS 9@ Th A1 €@ F T H
a3 T=di # S=9 W9 99, ifgs TR,
w@vse 3R g BN B Fhg H §
12.

cooperative learning, a

In a classroom discussion on cricket, a teacher
is giving more chances to boys than girls. By
doing so he is

wHAT W e 0T &Y W@ o=l ¥ Ueh IeATUe
TSRAT Y AT ThI I e AT S T&T
{1 T 0 oE T T @ R
(a) Combating stereotype threat/®fgas iFﬁﬁ?ﬁ
P FT F G
(b) Practising gender bias/3TUET ‘Eﬁ'ﬂﬁ EARCIGE
R @I 2
(c) Ensuring gender equality/@\fr@? HHTAAT Bl
IR L T 2
(d) Breaking gender stereotypes/a\m wigas
gROTS H A @ R
Ans. (b) : F&T ¥ e W & W& == | TH A0S
TSfRal S 37U TSH Hl AUH AW 2 W 2§ WE
Fh I8 UL QAR H T @ 21 e e
(9 TEY 1gar wfedn) & 9w FfEd 9 e o
ifiTeh QAT e @ 3R Tal At i S vkl
e 3¢ R s AsfRal @ oten dsel @ A
IR AT ST @1 & ST A% TE F ¢ fF A Svel
TatE ¥ I 2

13.

In a class of diverse learners, a teacher should:
fafaer gsafr & oy frenfdfen areft wem o
STEATYS: Tht ST AT TT(ET?

(a) Group students base on their performance in
exams/T08T H ITH T F MR W
el % T s =R

(b) Set and maintain expectations of success from
al/gf ¥ Hhel F UAT FE TE T
Tl =T |

(c) Divide students base on their socio -

economic context/fEnfial & wmfe-a1fia
T o SR T 3T FIehL0] T FRT

(d) Practise standardised curriculum and method

of assessement/H-hIhd a3
F faferit &t st =R

Ans. (b) : fafas yeqfy ¥ smu fuenf ach wer &
eI bl Hoff Bl W ThE i TUE FAT AT wH
3% T WA AT fEE 5 en qul s & @y
TH-TR H TEAN F gC A6 & § AemH W Th
Safh TE FHMI, 39h BT F TUR T ITH ahT
FT q9T AHEIFa Treawat 3 qoff 7l = & frm

§ FHEREF T9E [T &

14. Formative assesment is done:

TIATcHeR ATeheT ehel fehaT SITaT §72

(a) only at the beginning of the session/Had TF
& R H|

(b) through the session for all students/dt
il & o @ 9 % A

(c) at the end of the session only/Fac 7 & 37d H)

(d) only for students facing learning challenges/

Faa 34 faanfiei & forw s siferm il @
¥ ®/ £

Ans. (b) : TS 3Tl T Hrd f¥reror wfspam &t <9
H TH HET BT 8, T Ahe REIOT AHAT AR
TR (Tefd) 81T 8 1 39T JamT 3R & fow & st
T JBUUT S&H FT 2| 39H g frnel i T aar o
2 o5 3T el QUR I NFvTHT &1 T e qeft

ferenfelet % forw QU @ o &N fehan T 2

15.  Which of the following quesiton will promote

ciritical thinking among students?

frafafea ¥ § @E-wr yoq faentdetr ®

HHTATOATE feidT ol Tad sham?

(a) What is the Capital of Sri Lanka?/4fcish
T - 22

(b) When is teacher day celebrated in India?/9Rd
T S1eAT fRod e HET ST 82

(c) Which is the largest city in Asia?/TRmT #
oY T L HiA-91 82

(d) How would you resolve water crisis in your

city?/3Tq 39 YT H UM S HH B GHET
[ERERE I

Ans. (d) : TAAEATES AT @6 A q6 H A AT
sfifod feafel, fERl ok gemel W @] & # e
21 T qedi, weAel e H wgHEA A1 S vy
T A AT H Gahfd e &1 T T e B e
W & o Fad Th T W T o g oE &
faftr gfyehor wra fovw <1 9| TS AT &
fou 3fem favemor, geaisq, fed o wfisor &
EYTHAT B & 3d: 3T A YL A G A gEER i
foFe R gasmw wou faenfde § geeEnEs i @

AT DT
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16.  Concept of inclusion requires:

HHTAY Y TR &g TeRTeht STavarehar &7

(a) Respect of diversity and individual
differences/fafsemr 3R afhs Rrmmei &
faw g )

(b) Standardised testing for assessment/3TTeheT Ed
foTT A weon|

(c) Teacher - centered Pedagogy/a?w-%ﬁiﬁ
RreorerEa afe |

(d) Labeling and segregation of students/faranfaf=
FT AT (AT 3R GeFHIHT

Ans. (a) : TUEYME, V& Tf BET P AR @IS
TEEM & aaegE, S fedel 3R ewmdrs & war
fopu fom Sifers womell § s Soft & sl W v
FH & g gehla @ 21 9 fafeua & o 3 &
S Safthe frearsl B GET SeM S 8 GHETH, g9
THR o el bl HET qh oA @ I A Bl W@ 3
AT T % GHH HTEL T&H HIA B |
17.

'Dyslexia’ poses direct challenges in the domain

of :/UBTIHeT fohm & ¥ yoaer ®U | gHIC

&I AT &7

(a) emotional regulation/sTaTHe fooma |

(b) body coordination/ITRe THF=EH §

(¢) social interactions/HTHIfSeh 3fafsparsti §

(d) comprehension of written text/feiRad ﬁw
arg J

Ans. (d) : ToTd%ed a1 fewifegar s R fasetimar

2 forwehr s g ®9 @ gl @ fafad o &

Y 3 I H3AZA F &9 F a1 @ 3 SAdhed

e o @ fofad fave aw A9 § e w8 A

T GHAT BT TS |

18.

While students with Autism faces several
challenges in certain domains, they have
strength , which can be utilised by the
teacher in teaching - learning process.

Teltaar (enfesw ) ¥ wea faemeft greifer oo

st o ferfirsr g o1 |HAT oA ¥, AR

ERCIC) W ouwed uer oft g,

IeTeR et AT Rrerr-siirm wiskran

T &Y Fehd B

(a) to pay attenion for minute details/q&H foaTon
W &

(b) for social commnunication/HTHISTeh TEHOT

(c) of expressing themselves without hesitation in
front of large groups/&d Al FI'{iﬁ &
e, o fews & = e

(d) of easily adjusting to frequent changes in

schedule/3fedt # Sed)-siedl Red & ofd
TAAES A

Ans. (a) : @A (3ffesH) ¥ wfea foandf grenfs =
&t & fafter Hfaal &1 9 # €, Afd 3 I
e ol W oeam 3 F Ao o o 8, et
freeT seamTeT fRveres-aferT Sfhe & & G &1 sAfesn
Tar A @ forgd o= gue @ gft s o € e e
¥ T B STHeS "eqd s ¢ sffesw ¥ difed
forameff T S A ARE U WS SR fERi @
Ao T § oW AE @ T 81 a8 e B dead
U Siieid &1 9Ty Sgeh1 e arefquf & B 2

19.  Which of the following mode should be avoided
while  teaching students with  visual
impairment?

3fe e & SER R ¥ e forerr F
| ferm farfer aream o W&t @ seET =fe?
(a) verbally explaining the content written on
board/TMYs R fafeq fawaesy & wifes
Y § AR HEAT
(b) providing tactile maps/SIIR WA Lol
(c) allowing use of assistive devices/Hg&h
SUHTN o FANT H A A
(d) using written tests to assess learning/31eTH *
3 & fore fafiad adteror o
Ans. (d) : SR 1o 98 810 § S e7ut stf@l ¥ i
YHR § T 2@ UM § o UH aedl b 91 fRwin
oI 9 MHed & fou fafad wdewr o9 ¥ s
afew Fifes fafeq odemr sfvafem s=ai & sfem =
it TR T A T §1 ghaRe ae RRad
qleT § @ H STHES Wegd N ¢ e 6 4 wleo
% A T TR TE IR U § 7 e @ e &
T Fea & o § vames ® o fafen fowes &t
Tifash ARE 1 WA H, 3% T A ge B
T 3% WS TR o FAN H AT T S IAk
siferm & e @ T
20.

Which of the following is not a characteristic of
students with 'giftedness'?

frafafiaa & @ wa-d fagrear ‘wfeamened’
Teremeff &t =& &2
(a) above-average intelligence
e g T
(b) higher order problem-solving skills/3=d &{d
UG YU Hieret
(c) high motivation to master skills/teredi &
frqurar sTa S & fow 3=a wdw st
(d) slow in processing information/STeHRI H
e H § ofmme
Ans. (d) : STl faEnfe ¥ ey 39 e @ @
St e 9§ SrERer € 3R IR A1 s
RS § AR IedEHd YeviH Wefdd & ¢ adn
T gfg W § gwd eftld e ) 3 e o

level/3iad 4§
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A teacher should motivate students to form
view of ability and should consider
learning as process.

T& eATUe @ faEmiEl e arEar &
ufgear iR siRrma =i
TR T % T W e R
(a) incremental, an actlve/mﬂiﬁ T Hishd
(b) entity, a passive/3Tfda Tqeeh, Th R
(c) incremental, a passive/ﬁﬁ'@ﬁ%ﬁ, & fAftra
(d) entity, an active/3Td aeh, TH Hha
Ans. (a) : T 3TEATS i i & A0ad & ghgars
e R Sfrm # ww §fRg wRa WW F fau
TieEfed & ifen w6 we gt ey s fAmi
g o e feraedf sifefl st 5w @)
22.

Students are likely to experience
when the activity is not valued by them.

gfe wfafafs = wge w@ fear o1 @ & ar
Tareneff g form &1 STgwa & & WTeET €
(a) Curiosity/fS/gmar (b) Excitement/3cHIg
(c) Joy/3T= (d) Boredom/afaa
Ans. (d) : I AR ® wed & G ST @ @
forendf g1 Siftam @1 oFwE S GwWEer g1 fR
nfafafy § STHIY oYY F A ITH T A o AR
&1 HOT & Febel &1 FE a9 o & Febal & 5 faenia
! frdt F& W e Hfegg w0 § FfoTE &t 2
23.

Richa, a school teacher wanted to promote
conceptual understanding among her students.
To do so, she should:

et reatuen Rem et frenffel & @

TUF T AT HEAT TR § 39HR forw 3@

AT AT ATRT?

(a) ask students to solve questions in prescribed
manner only H T F TN
freia 9 9 & & fow we =Tz

(b) focus on procedural knowledge and
metacognitive skills/SfshaTHe I 3R efy
YA HIYC T A 3T AR

(c) emphasise on rote memorisation of content/

¥ FI WRUT | I AT AT

(d) discourage studetns to establish connections
between  sub-concepts 39-
FagROMS H TEeW W W & fau
frecTfed S AR

Ans. (b) : WA U R oqe faff @

FIYRUHEG GO B GYAT BT AR ¢l g9h U

3T ARSI 3R RIS SV W SN 3

=R Fifh AfHaTcHs F o=l Hl I8 o & 6 3%

=Sl ol HE HEAT & a1 AEFAES Hive i &
fid 3 tferm & Frafid s § wd a=at @ 3% %A
F SIETEE SRATe & 9uEE W ¥ GREE §, o6t
T T 1 S0 GIW W AR e g 2

24.

Which of the following characterizes a socio-
constructivist classroom?

frafafeaa & & ®F-dr dmitee ToFTETer

HeTT Wt fargrar £2

(a) Teacher inculcating competition-oriented
attitude among students/3T&qTqh GRT ferenfefat
 wferenfier s=Et g &1 faswr we

(b) An environment conducive for discovery

leaming/m el e1fer fag ‘?ﬂw

afterer

(c) Pedagogy geared to focus on rote
memorisation/a3EIeToT T e
Rwquremsftar sfafeat

(d) Curriculum which is standsardised and does
not consider cultural differences/AT el
urEdt S Hipfas st @ e 7w
&l

Ans. (b) : G TG el § ad TH hefl-ahef d
2 ot oE A © W dEd, 9" W IR 9’ B F
MER R AR R e F A T A 1 T
Feyrsi § BHEI B oI W & e e oF &
foe Sieafed fran ST &1 s dee e % fw
ST aRaeT o T TETaTd Fenst Yt fererar %
I ATl B |

25.

Students feel more involved and engaged in the
process of learning if classroom environment
promotes:

(i) Enquiry about the concept

(ii) Reflection on their thoughts

(iii) Passive imitation of the teacher

(iv) Mere reproduction of knowledge

foaemeff wam o sifrmm =t wfekem o i
Hishar X HEURTt o=1 HegH & &1 afg e
TRAIT TS HAAT &

(i) STELURUMR & o ¥ fgmar

(i) 2o Tt ux fermot-fea=

(iiii) 3TeaTUR T TSR SrgaRTuT

(iv) T T AT TS TG

(a) (1) (ii) (b) (i) (iit)

(c) (ii) (iii) (d) (ii) (iv)

Ans. (a) : A F&T F IRAY FFuronS F R H g
T o1 foeRl W feawel-foaa wea #ear @ ot el
Fer § S w5 ufhe § et qiha o wewnh &
Y B ¢ U9 uRaw fanfiel & e @ wee <
? RE9 3 wg F g TegE F § it svefyel
AT Fd §
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26. To facilitate student's learning, a teacher

should conduct activities which are:

forenfyf=i o TRAW wT WS- a1 & g

JNLAE I TR W @t Ifrererar ot

HETAT AT AT ?

(a) relevant to their everyday life/STt 3% wfafes
& St o o ST 2l

(b) mechanical an require passive listening/C‘ﬁ
Fifes & 31X fored fafsear gaur wnfier &t

() decontextualised/sTt Tad T g &1

(d) presented in progressive sequence from

complex to simple/si Sfed ¥ WA &l 31N
T =g g A § e o
Ans. (a) : fafE & siform @ Tew-gT FH F AT
1A Pt U Tl 1 derem S @R So3AS
wfafem & S & e yife & it wd nfafafet
foanfefl & w9 a1 Fw § SEd sW T Heewngel
e d €1 Sfafem & ST ) wife fafafet st
F e ¥ I g ot @ o 3 ¥ & uiha fmior §
S & e B g
27.

Development of critical thinking in students
can be faciliated by emphasising on

fore w1 T
R yeRR WSt g foRaT ST HeRaT 272
(a) application  of learning in  varied

contexts/fafeer dewf # ifrm % STy g

(b) competition to finish the task at earliest rather
than understanding it/SH&l F YA W FE A
o o1fa Wy U 0 F e i sear &
(c) mere summarisation of notes given by the
teacher/37eA0% g fU T =ARAH
TR fieBT ek
(d) rote memorisation of content and passive
imitation of teacherm H h3edihtoT
T TeATgR B Al ST B
Ans. (a) : fafi # goceTers e &1 fFem 3=
faforer deaf & o1 % STTAM 0 e g fRar S
TeheT © M6 37 Tl g0 S § A B
qug 399§ I 7 el 9 a9 @ faw
A ¢ o F U & wwen & gweE % e fgel W
foaR # gT gomEia o B faefad @ § S 6
THIC TS a1 9Fd H 8|
28.

Pace of learning is:

arferTy &t T

(a) dependent solely on personal factors/‘{ff a®
SRHI BB WA 2

(b) dependent solely on environmental factors/{ﬂ
TE e FRe | e 7

(c) indepndent of both  personal and
environmental factors/safhTd 3 FERON
HH, &l ¥ T B

et | [P TR @ @ E R veel @ & e % R A g W -

(d) dependent on interaction of personal and

environmental factors/SRETd 3 FrAETRT

FRE FH IR R W fae 7
Ans. (d) : I T TEY, I, TR, IV, oA
EYHI0T 3R FUFAST B G B B AHAT & TR M
T BH W TR o § fim @t 81 dew & fafe
TR & SRR R Tl FRE § gwifed e el
FfHT HRH T IR, e, IRYFAA S Jfshar i gefad
FA & qAT AAERONT HNH § SRS qUT TG B
e & S W THEE ¥ YE S aed & 9 % a1’
T 9T SO &1 T frhY ®7 ¥ 9 9% Fg 9 §
% dred @ fy sferd iR el wwel @
qRa fRar W fasl 7
29.

Alternative conceptions of students .

feranfefat =t Serfeuer Staemumd |

(a) should be discouraged by ignoring them/al
3Rl i frewfed &t S =feT

(b) are not related to their experiences/m
Ivel § Haftr T 2

(c) are always extremely errouneous
represents irrational thinking process

e T B § 3R deha feed ufhar &
9 21

(d) illustrates their 'naive' theories constructed in
the process of meaning-making/31d famfor &

gﬁm&ﬁaﬁﬁﬂ@ﬂﬂémmﬁﬁm‘ﬁ
|
Ans.(d):waﬁWWHﬁﬁﬂfﬂTaﬁ
ufspenett #§ T T Hew @eEe i vl &1 5w
ﬁwﬁﬁmwaﬁmﬁ%mmméﬁéﬁﬁm

and

FAITHS T T ¢ FUN BE B A FA I,
Idlfeheh STGUROT el ST &1 dehfodsh STAUNUNS &
ey ¥ e I8 geear @ % o=d e & § wm
3R 3T 9 T § e 81 F SEURT =

ey &1 e § weereerar s § q@rde g

30. While teaching a concept, it is important to
avoid:
Tt oft Staamum @t g ava e fo&a
ST | ST TEeayut g2

(a) making connections among different aspects
of the concept/TaERUT3 % EIEE] %ﬂx’:ﬁ %
e g ST R |

(b) hlghthghtmg cause-effect relations/&HIh-919
et FET

(c) giving non-exemplars related to

concept/W%TITlTﬂ?:ﬁ H W T F oA
T H

(d) presenting the content of
disconnected chunks of information/

F famas] H THEIRA & SEEYd @Uel &
&Y 7 &[T BT

concept
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Ans. (d) : {58 off syaemon &1 o g9 e
W 9 W =AW @ AT fF v e @ty
fhar s e sragmomstt & faf weqst &
T Y R ST U a9 FRE-yAE g
Twifehd H gL SFaEROTS A IR IR F W

SOCIAL SCIENCE

1. Consider the following Assertion (A) and
Reason (R) and choose the correct option.
Assertion (A): 'Hanters and gatherers, moved
from place to place'.

Reason (R): 'Depletion of plant and animal

resources in an area is possible'.

Choose the correct option.

T AT (A) AR HRW (R) W fa=m

& 3T T Terehe ot oo -

HAT (A) : ANMWTH AR T UUESH ek Teh

T | T T U gAd ®d A

HRUT (R) : foreft gommen o dient i el 9@

HHTEET /T e AT 69

TE foreReT o1 o= &

(a) Both (A) and (R) are true and (R) explains
(A)(A) 3R (R) & @& & i (A) & (R) F&
ST HTAT B |

(b) Both (A) and (R) are true but (R) does not
explain (A)/(A) 3 (R) a1 @& & @ (A)
F (R) T8 = 981 L 2|

(c) (A) is true but (R) is false/(A) el & e (R)
T 2

(d) Both (A) and (R) are false/(A) 3R (R) g
T 2

Ans. (a) : ‘3TETH 3R @RI TR A SE T qEY

8 W YA W o s TR somh § diel et et

Y GEEAT B G B G99 & 9 A 399 9 § @R

(A) H (R) W& =R &N 8| AEeH @ T GIES

JIETT & TF o8 ¥ T T8 W 0 @ 5 B2 HROT & —

o TECll HNUT 78 ? % 3R 7 UhH & e W e fo

% @d d SE-I9 & 98, Bell A SR bl Tl
O F3d 9, s AeE @ qere § 3 gad
SR T ST g o |

o TH FRU T g fF TR 9 furaR, WW e &

foT w Se ¥ T S S w91
o fi T FNOT A7 7 5 U § wA-FeA AT HieH
% o R SOfIY o S dener § Sugt Hiew %
IFTHR 37T Tl | A Td 9

o <y FRU U &, B A, T B A FH
T gET B g@ I 8, @ At A, it
% PR T4 ot Al Sl gFT @ e § gER-3ET
ST T 2

2. "Widows, young women who are differently abled,

nuns, mothers of courtesans, retired women
servants of the king, women who have retired from
service in temples, any be used for processing wool,
bark, cotton, hemp and flax". This guideline on
spinning and weaving workshops is described in
which of the following texts?

", TSt W BT, HUTH, UL q9T W
IR T &k w0 faerared, werd-stem
afgenstt, fusgfrt, @i, avaed, TS W=
U A Rl TET T Wehdal & TE
wAE-gAE wREE W @ o
frfafad ® @ fre g ¥ aftia g2

(a) Mudrarakshas/qJsRI&H

(b) Rajtarangini/TSTaRioft

(c) Arthasastra/37e¥T&

(d) Brihat Kathamanj ari@éﬁ"oﬁaﬂ-'ia'ﬁ

Ans. (¢) : “T, TSI H I, HFIM, T A T FHI
TR & & wW § fouas, wewE-sem agens,
g, Fai, awaned, TS F SEww WW A,
fgapratl S STaHTeT ST YT T AT ST Gehel B
g HR-IE HrEH W G My srdwre’ Ay §
aftfa 21 srfeme Tonm % iver, ofie Hify it G
WA W TF TR ARG Spa 99 8 hieed, R

fropTe R =IO % &9 § off ST S 8, i e
% G % &Y § ST ST 2

Ty Siecy

LR N CNICC | 5

TSROl - e

wfE - A

gt - difvEr

FHAR G -~ HrAlE™E

3. Consider the following statement and choose

the correct option.

Statement I:  7th century onwards rulers often
tried to demonstrate their power
and resources by building large

temples.
Statement II : During 10th and 11th centuary
when rulers attacked one

another's kingdoms, they chose to
larget temples.

frafafad waa W fem & 3k o fawea

T ST

HIT (I) : Tt T ¥ e 3 g wfed
1 T sar w ST wm
AR Gl w1 YeYA
T R

HI= (ID) : Tl R TIRES IR & R
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(a) Statement I is false but II is true/hI (1) TAd
? T (I & 21

(b) Both Statement I and II are true but I is not
correct explanation for IL/®¥9 (I) R (I
2w € W (), (1) B G e A 2

(c) Statement I is true but II is false/®9= (I) W&l
R T (II) e 2

(d) Both statement I and II are true but I is
correct explanation for IL/&®¥9 (I) 3R (I

21 W& & q9 (1), (1) 1 TE =
Ans. (d) : rEl A § R 4 9 w4l w1

2y
g

Bl

4. The architectural style of intersecting arches in
high ceiling roof is common between:

et ol s A [ STeft STegeRett

i ag et o sfter wuT §:

(a) Govind Deva temple in Vrindavan and
Fatehpur Sikri palaces./ga/@ & Mfeees H@ie
R e R ol & Teal

(b) Bangla Dome temples and JodhaBai

palace./aTal 1&g A S o & wed
(c) Palace of Vljayanagar and Shahjahanabad./

VESTEIAIEE & Hec
(d) Qutub Minar and Rajarajeshwara
temple/ﬁ’@ﬁ"ﬂ?ﬂ 7

Ans. (a) : $9 Hial B0 § HfreRd HeUEl arelt areqehan
# T8 Yl geEE 1 fEEdd A 3R wieg el %
wEdll % o A @1 gaEd 1 midedd At @ fmi
1590 # SR % TN AW ffg 4 FEE W HaeR
Wﬁwwﬁﬁ%a@wﬁﬂ%m

e # feom @ o PR Rech § Rem 2
FITHAR H T F YR FeeH-Tah 1 H 6 3R]

ITH! QU FEAERT  HAT AT

5. By the seventh century, the following political
developments emerged in the Indian
subcontinent:

(A) Big landlords and warrior chiefs could
become Kings.

(B) Brahmanas gave up their traditional
professions and took up arms.

Choose the correct option. )

el |dt & -3, HRAS SUHEET |

frfafan Terifae seema tiad § 311 I &l

(A) TS T R AFT-TER TS o Hehel A
(B) WTEIUH 9 3[04 TN UIT i BT
I 33T o)
& fereheq =T =T -
(a) Only (A) is correct/FHad (A) H&1 21
(b) Only (B) is correct/dae (B) &l 2|
(c) Both (A) and (B) are correct/(A) R (B) i
SER
(d) Both (A) and (B) are incorrect/(A) 3 (B)
Ans. (¢) : 9@dl ¥ % AE-3, IRAE SUHEET H
frfafian Tsifas agama oifaa o o7 b 9
o T2 M N AF-HER TS o Tt I
o SRV F 379 W I3 i BeHl % 331 |
o ?gs‘ IR F SIS § TR SUdeuEl T SR fRar
|
o HEEl YA % A& FT TS Hl 3T g3
o S T SR WA BRI B W TEA Y- H
TRl A, TS (R AUSH F HeH @) ge
ife T ST I
6. Consider the following statements on 18th
century India and choose the correct option.
Statement (A): Craft and commerce underwent
major changes as merchants and
artisans were moved to 'black
towns' by the FEuropean
companies in the 18th century.
The 'black' referred to native
traders and craft persons, who
lived in places like Fort St.
George and Fort St. William.
18 yraTedt R o wed ¥ fmfaiad waAt
W faem = 3R Wt faerew o1 oo &l
®HAT(A):  oEdl vl # Rred s
aftrsy & a2-a¢ uRada e, s
S aiR BT g St
g0 wfd ‘st e’ #
TR 8 T
I el T @ S HE G2 Sl 3N
B¢ de ffem S@ TR |
|
(a) Only (A) is correct/&ad (A) H&t 2
(b) (A) and (B) are both true and (B) is a correct
elaboration of (A)/(A) 3 (B) aHi @& § e
(B), (A) 1 T& g &
(c) (A) is false, (B) is true/(A) Teid &, (B) &l &
(d) (A) and (B) are both true, but (B) is not a
correct elaboration of (A)/(A) R (B) gt
& & W (B), (A) 1 GEI Il TE &

Statement (B) :

hdq (B):
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Ans. (a) : 3OREd YAl § Req R aifteg & sg-ae

Wi ‘e T’ § iR & U 9 F99 9 8

T ‘St TS <%0 SAIRET 3R RIeqswii i Fal

2 S Fhad wie Te faferem Sidl SEl W @D 9 e

FHI A B

18t &t =t fargrer -

o 1841 §& H T
ERR IS
ufgesit # R FH F T W@ 91

o OONEdl VAR & URA B HHSh-emfde  fRufq
sftear 9 yifed off 9= ®9 9 guS AUl
ARHY TWawsT H TR T Afhd TS d F3
Ieadl i IR far T

o I e & Hod forael TR W SAfreisr e 9

o 18 Yl % W | SN 3 g F IvEE
ST 1 qa I &1 T

7. In the context of Permanent settlement of

Colonial India, which of the following
statements is correct?

AR AR & T sde & dad #,
frrefefiaa & € &9 @ %99 @&t 82

(A) In 1793, Thomas Munro introduced the
Permannet Settelement in Bengal./1793 ¥
a9 TR A Fma wid § e ddeEs @
Y& Al |

(B) Under Permanent settlement, the rajas and
talugdars were recognized as Zamindars./39%

Ted Tomedl 3R ACHRRI H STHER & &9 F
T & T
(C) Zamindars were given the rights to collect
rent from the peasants/STHIGRI ‘
T S A T bR o )
(a) (A), (B) and (C)/(A), (B) #R (C)
(b) Only (A) and (B)/&ae (A) 3 (B)
(c) Only (B) and (C)/&de (B) 3R (C)
(d) Only (A) and (C)/&d (A) 3 (C)
Ans. (¢) : 3UFEIE 9Rd & @R S & ged §
foraferfiad wam o §-
o THF Tad TeMel R AIHER FI SHER F w H
AT & TS|
o SHiERl &1 fFaH ¥ T a9 S 1 SR faar )
o @ e ST J U TodEm # Wl see 3R
TRTAETE! dareed ] fhu
o 3T SaEEd H T ®Y § UM & A S w4 o,
2 taq’ &1 S o1, T YHR @ sceed @l
TSt & 99 | S S
o 3T S HHaTed g/ T sEEe tfufaw 1793 &
ey § U9 foRar T em
T YN %o (B) 3N (C) HIT TF & 991 A HIA
3T 2

3 || fepam ST wehe 2| Tehlelie TTa- S e faferas

8. Which of the following is/are true about

William Adam?

(i) William Adam was a Scottish Missionary.

(ii) He was a British administrator.

(iii) He had been asked by the company to
report on the progress of education in
verncular schools.

(iv) He toured the districts of Bengal and Bihar
to report on vernacular schools.

Choose the correct option:

faferom wew & ded o fafafea o @ ==

/| wdl €82

(i) Taferm TS U whifeyT T=me A

(i) I Ueh FTSH vITER A

(iii) ot ¥ 3% M Tmert W e @t e w

U qum &= T T | em
(iv) SBR ame iR faEm & et &
et W U aae o forr gwor feram

TE foreneT ot o= &

() Only (i) and (iii)/Faa (i) 3 (iii)

(b) Only (ii) and (iii)/3ae (i) 3R (iii)

(c) Only (i), (ii) and (iii)/&ae (i), (ii) 3R (iii)

(d) Only (i), (iii) and (iv)/&ae (i), (iii) 31 (iv)
Ans. (d) : Bforaw w=w s @iRw RS 9, A A
3= 3 ot # frm & it W RO TR w9 F
S diar o et 3= ame R foRR & Rl @ d
?ﬁwgﬁwﬁﬁéaﬂﬁmmﬁﬂml%ﬁ$mw
|
TsH TS g, fagm i@ Sderfe gue dE% 9
TSH & HAT of 7 form & g & Rt off g &

dfeh T w=H B SRR qur §ma # fwrn # Ry @

Tleur FH F FE fm om wew A o1 weeht Rurd

e, 1835 H w&qq @l 39 Rud § 394 wApel ama

Tid % THA HaE ffhe WA R |

9. Match the Column (A) with Column (B):
Column (A) Column (B)

(a) RajaRam Mohan (i) Widow's Home
Roy

(b) Swami Dayanand (ii) Set up schools for
Saraswati girls

(c) Pandita Ramabai (iii) Arya Samaj

(d) Ishwarchand (iv) Brahmo Sabha
Vidyasagar

Choose the correct answer

HRIH (A) ST ST (B) o AT e =i

HAH (A) HieH (B)
(a) TSIRM WA IF (i) faean 8
(b) @t TR ST (i) @efRa & fow

EEElY
(c) dfedr @ (iii) = g9
(d) o= oM@ (iv) SEAT g
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e fasheq 1 I8 R

(a) (a)-(i), (b)-(ii), (c)~(iii), (d)~(iv)
(b) (a)~(ii), (b)-(i), (c)-(iv), (d)~(iii)
(¢) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(d) (a)~(iii), (b)~(ii), (c)-(iv), (d)-(i)

Ans. (¢) :
BESiy TETIH AT Y
SR | TSN A T 1828
3 gu @ TR qEad 1875
fqerar T8 qfredr e
Al & o SaEs fomrR
et 94
I U PN EEE T 1867
IR TS T fasE=s 1887
fere et LCIEAC IRICIE T 1912
10. The strategy adopted by Ishwarchandra

Vidyasagar to challenge a social evil was the
following:

(A) referring to western ideas

(B) looking for supportive superstitions

(C) finding a verse or sentence in ancient texts.
Choose the correct option.

feredt off wrfer 9 1 SHEE @ & fag

Boteig foemamr g o= W Tt fre

&R G off:

(A) ufzrft fremt = garer &

(B) TUAT a7 AT STRITGYTH hl WSAT

(C) Wrehi Tieft & veileh o aTeRN Rl gl

TE ferehed T == il

(a) Only (B)/&aa (B)

(b) Only (C)/Faad (A)

() (A)and (B)/(A) 3R (B)

(d) (A) and (C)/(A) 3 (C)
Ans. (d) : 9Bl fERT 1 garen &1 iR e Fel
YR A1 arRl B e fRe o i e @ g
3 & fau deeEs fumErr g oo T g o
1820 ¥, 321 9% foamR &1 5= St o gen o &
forftfe 7iar # U srel! fog T aRam § gam ol 3=
g fauErR 194 98 ¥ U Sc@dd sRiwdl 3R
forars 91 T Ws fagH o ¥ guRs & w9 §,
3 foral § wRdtg o7 afym <A1 evrest e 9

frafafga & @ &9 @ mgem el St &

STHEHNT AT o e 97

(i) T, T & UEER fRae e

(ii) USTTE & FHER Ugl & Rach vl
K]

(iii) ST H TR WA

(iv) 3= ¥R ¥ TeX et & e ferme 3iR

TASTET R 9 Aeg

frafafaa # @ v s = gH)

(a) Onl}% (i) and (ii) are correct/&ad (i) W (ii)
i §

(b) Only (i) and (iii) are correct/Had (i) W (iii)
e g

(c) Only (i), (ii) and (iii) are correct/Had (1), (i)
T (ifi) 9E &
(d) Only (i), (iii) and (iv) are correct/&ad ),
(iii) W& (iv) TE &
Ans. (d) : 3TFEAN TR 1 T 1920 A Y& foar
T T, AE H BEdl, 1922 § SR S S ST & SR
amg o foar man ww 22 gfemefi @t oam § R
Ster fe=n & i
B, T & UERR fREE e, ¥ HF
O S oy W H e S & e fRem i
STl R G G’ STaiel Tl St o STEednT
M=o & faen 91
12.

The 'Swadeshi Movement' after the division of
Bengal in 1905, was also known as
'Vandemataram Movement' in which part of
India?

1905 & &M faue= & a1 & ‘Tl
ST’ i 9RA o forT & | ‘g Ay’
SR o A0 © ST 7

(a) Bengal/afel (b) Andhra/31i¥

(c) Assam/3T8H (d) Punjab/dsitel
Ans. (b) : 1905 & M fUSH & o1& & ‘wEl
AT H AR & Y &7 H G WA A= b
A H AT TR M e & e g9y g
HEIeH o1, 39 32YT W GHsg &1 gHW ST 3N
T @ enfiE Rem ¥ gER wT A1 @ e=em
1911 ¥ THI & T4 47|

11.  Which of the following movements/agitation 13. glonsmer :he tf.ollowmg statements and choose
was/were the part of Gandhi's Non- ¢ correct option.
Cooperation movement? (A) In 19-50 the Infh&}n governemnt s.et up a
(i) Patidar peasants movement in Kheda, planning commission to help design and
Guajarat execute suitable policies for economic
. AP . . development.
ii) Akali agitation in Punjab against corrupt
@) ahant jab ag P (B) In 1956, the Second five year plan was
(iiii) Salt - Satyagraha in Gujarat formulated which strongly focused on
(iv) Forest - Satytagraha by tribals and poor Z%Zl;:!;l:il:s?rlilgsput emphasis on consumer
easants of Guntur district of Andhra it .
f,radesh ntir Gistr frrafeafaa wmeat w faem = eiv wed faswea
Choose the correct answer. T TG |
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(A) 1950 T 9T TTRT = 2AfefeR fererma & forg
Hfifqat s 3R S @ wH & faU
Teh ‘IS ST <Rt T feRam
(B) 1956 W &l veadfa AT qAw W e
e wiy qor SudeT a%g SErn W
TIiE WK fear w=m,
(a) Both (A) and (B) are true/(A) 71 (B) 3T W&l &
(b) Both (A) and (B) are false/(A) T (B) @t
e §
(c) (A) is true but (B) is false/(A) ¥& & =g (B)
e §
(d) (B) is true but (A) is false/(B) Tl g (A)
e §
Ans. (c) : 1950 H 4G WHR = =i fam & fog
el S SR ST AR F O UF e S
T 5| WA § 9% 9RG T WHR AT T B TH
R Hige YT SR 56 dad AHT SMEm S G
A & TIHET H RAE Hr o1, & ST 15 q™, 1950 H
T U SOl ge ol STl H fha TR A
AFNM F T FEAR 1 a0, 2015 H T ST W
fear a1 A S & Sreme wuH T A 2
1956 # TR fidiig daasia a5 &1 77 329 g
AR il ST & fasE W e SR ed % wig-2
SAtrfishtoT o1 o: B9 (A) T © b (B) e 2

Ans. (a) : ST A R 7 HoH T 38—

o %ol 7 I vl ol § e &t ot

o I SR F I G F A W AR AT b |

o 31 Fe1 fop e faeh 91

® TE 3 YUF & IuFIvER-FRE YpaE F e 91

o T T AN & U ‘AT IR W THHA FAH TR
39 T fopam AT em

.m}i—%m@ﬁt-maﬁm%mﬁmﬁﬁﬁ
T 2

9 FHR F99 (A), (B), (C) 3R (D) ¥ %o €|

15.

To depict planet sizes correstly in a role play on
the solar system a teacher selects two students
of the same height and weight. Which of the
following two planets could they be enacting?

T& ‘U &' (AEsh) ¥ U1 Uge & T& ol
TE MR | 9T o 13, wes fOreres < qu=
e 3R a9 & BT S AT §) Ftafaa |
W RIT T S TET T AT o T Tehl &7

(a) Mecury - Venus/99 - sh

(b) Saturn - Earth/?If+ - geat

(c) Earth - Moon/geat - <gHl

(d) Earth - Venus/Je&T - Tsh

14. Which of the following statements on Jyotirao

Phule are correct?

(A) Phule studied in Christian missionary
schools.

(B) He countered Brahman's
superiority.

(C) He said that Aryans were foreigners.

(D) He was critical of anti-colonial nationalism
of his times.

(E) He dedicated his book Gulamgiri to anti-
apartheid struggle of South Africa.

Choose the correct option.

T SN B W i F HweT
wd 87

(A) %ol = garg frerrdt whedt & uerE oty

(B) S8 FTEIV o I8 B & Tral W Gelht
FUEAT TeRar aml

(C) 3= gt for 2 fereoft on

(D) 9% 31U O & Suf~ravrare-fedieft wyarg
& TR A

() S8 3t fepamer e’ efior-
skt o Tmie fameft dod @ wafda
Teram

Tl faeheT w1 o9 Sifvg:

() (A), (B), (C) and (D)/(A), (B), (C) 3R (D)

(b) (B), (C), (D) and (E)/(B), (C), (D) 3R (E)

() (A), (C). (D) and (E)/(A), (), (D) 3 (E)

(d) (A), (B), (C) and (E)/(A), (B), (C) 3R (E)

claims of

Ans. (d) : T U © (EH) § R qUSA & F&l &I
T AR H TwH % U uh Rre & wHE #e e
T % BE B gA 21 Rw T e A 9 gy A e
P AT T F Ghd &1 SER F TER T F B
(I w9 H) o-

@i — I —> R —> TT —> TH —> Th —> T

—> 9 ol A 9T I Jowli U T BT I8 I &

16. Consider the following statements about

international date line and choose the correct

option.

(A) International date line is an imaginary line.

(B) International date line passes through
Pacific Ocean.

g fafer War & v o fefafaa wet

W foem @it qar 9@ fasew 1 AT

S

(A) TaRis fefer WaT Uk shreuf-es W@ g

(B) s=igia fafyr T@m wonia "genR ¥ et
TRt &1

(a) Only (A) is correct/FHad (A) H&t 21

(b) Only (B) is correct/ Haa (B) &1 21

(c) Both (A) and (B) are correct/at (A) 991 (B)
w2 g

(d) Both (A) and (B) are incorrect/art (A) T
(B) T €
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Ans. (¢) : ST 0 T@r & sR § g s e 2

o STRIFTT faf T Freafs @ 2|

o STUIET fafsr T weTia HER § FeRt et B |

o TRIF ffy T & <41 3R F 99T T 3R I 12
U 2|

o T fafyr @1 weT WEMER % Sl S 180°
I W W T SR0T F AR G T TF FreaTw
@ R

= T IHR (A) 71 (B) & %o & 2

17. If it is 10:00 am at 60° West longitude, what
will be the time at Greenwich?

Tfe 60° UfE™ 9T W 10:00 Yot €, & M=

ferer o == wu gem?

(a) 2:00 a.m./2:00 qaTe

(b) 2:00 p.m./2:00 3TIEA

(¢) 6:00 a.m./6:00 FaTgA

(d) 6:00 p.m./6:00 STUTEA
Ans. (b) :
o goft T 24 WUS F 360° qAA 8, frwepr o 7 o
U FE 15° a91 1° i 9N e § o 2
9 YR &I MU oyve §, dWfam F 600 ufyw § fem
MR W GHT 4 x 60 =240 forFe 9 B
fiy. &t guer § sEem & fIT 60 T WM

2401H.

=4 g

60
60° 9fy MR W 10 : 00 Eie 2 (Ram &) @ GMT
T 10 + 4 FUT =02 : 00 3TIEA I |

18. If you are at 0° latitude, you would be standing
on the
W 3T (° STSHTST W E ar g w
e

(a) Equator/féfﬂa’{ 9d

(b) North pole/3T ga

(c) Tropic of capricon/Hh{ kecl
(d) Antartic circle/aferoT 12EEN

Ans. (a) : 3TR 34 0° e W & A 319 T g6

19. There are four domains of the natural
environment. Two are Atmosphere and
Biosphere. The other two are:

G ERE I L
a@ﬁwaﬁ'{éanwélm%a%ﬁ%
(a) Hydrosphere and Mesophere/SiciHed 3R
BI2EEC)
(b) Hydrosphere and Lithosphere/Sidgd 3R
wHsd
(c) Lithosphere and Mesophere/SJcHS 3
BI2EEC)
(d) Lithosphere and Stratophere/SJcfHed 3R
FHAIHS A

Ans. (b) : 1, 5@, a1g, TS-UY TE SiE I e
WWW%W@%W%W%%—

TEHTSH, STHUSA UH eHUSH N Wemvee g8 g
TS 98 &7 €, S &9 ad, i g g arked %
fere gfty, wepedt 1 =A% AU S el e e 2
g Giael ga & off Fi9 2, 5 &7 FI Smvsa ded
?1 78 5 & fafte & 99 - 79, |, 9g, s
AT 3 YAt & AR WE el ag H Udeh W B

FATEA Fad 2
20. Which of the following is true about Tropical
Rain forest?
(A) These forest are called evergreen forests.
(B) The trees in these forests shed their leaves
at different times of the year.
(C) Sal, Teak and Shisham are important trees
of these forests.
(D) These forests are called monsoon forests.
Choose the correct option.

HIT INT wHieaefiT aut a7 &

N H A 7?2

(A) % UCToER o gl |TaT gl

(B) 3 ol H g&T ACWT-TeTT U o U+t

et v 2
(C) 3 a1 T UIT W ATt WUl g e,
i iR vhem €

(D) 3 g1t AEA 9= oft wea

TE foreReT ot o= &

(2) (A) and (B)/(A) 3R (B)

(b) (A)and (C)/(A) 3 (C)

(c) (B) and (D)/(B) 3R (D)

(d) (C) and (D)/(C) 3R (D)
Ans. (a) : SUGREHT aul-a9 TH TH &9 el @ S
e T % ST A1 I A o 28 Tl & ofie) g
21 3 ufvrn, sifeferan, . smRe, we R, Afrget
3R T AR W 91 S € |
IuEEdT auf a7 & IR § wE we T g
e 3¢ TSWER I Fel Il 21
e I Il § T WA -3 THA § AU ufe
firr @1 37 W(A)aﬁI(B)F’Eﬁ%I
o aut & IUTHEAS 3 Farg WE § et g

C- TET Social Science (Exam date 03.02.2023)

45

YCT



21. Which of the following is/are true about

Amazon basin?

(A) The river Nile flows through this region.

(B) Both days and nights weather almost
equally hot and humid here.

(C) At night the temperature goes down but
the humidity remains high.

Choose the correct option.

ST AT & I H e ¥ ¥ @ wnA wd d?
(A) e T 39 YT E TRt Tt 2
(B) F&l =1 Hraw foT wd o =1 W & wue
w®Y q T ue 3 B 7
(C) Td & THI ATIU oISl W &l Wl &
AfeRT kAT Ioer ST TEedt B
TE foreReT ot o= &
(a) Only (B) is true/(A) 3 (B)
(b) Only (C) is true /(A) 3 (C)
(c) (A) and (B) are true/(B) R (D)
(d) (B) and (C) are true/(C) 3 (D)
Ans. (d) : 3FSH df%T & IR F 7 %9 9 8-
o Igf %1 Higw R 49 Td IHl 99T GHE ®9 § T wd
S &l 21
o Td % THY ATGHM ArST %9 & ST 8 AfSh 3ar 3=
& o el 2
o IS AT F @ S, N AR THER
S &1 B, Hehl AN il S Ahd B off
IME S B
o 3{USH Afy SR SRS 1 fREEr 8 S sTHe Ad
AR U HerEe Al g Rifa foean s 81
79 FhR Ho9 (B) 3N (C) T&l & q91 H7 (A) TTeid 81
22.

Which of the following is/are factors that cause
veriation in amount of insolation on earth?

(A) the rotatioin of the earth on its axis.

(B) the angle of inclination of the Sun's rays.
(C) the length of the day.

Choose the correct option.

geefi W oemaud W W W Ruwar /e,

Trrefafiaa & & = s 872

(A) geat T 37U 3787 WX FHAT

(B) TF =t fervutt @At AAfer =hioT

(C) fe= =t srafy

T farerew ot ora=

(a) Only (A) is true/ e (A) T8 21

(b) Only (A) and (B) are true/Had (A) T (B)
il

(¢) Only (A) and (C) are true/Faa (A) 74T (C)
il

(d) (A), (B) and (C) all are true/(A), (B) a1 (C)
Toft o 2

Ans. (d) : T W ST 1 7R e & e o 8-
o oA S ST 37T T AT
o T F Reil A A o
o foq &t arafy
79 voR el T A4 s g €
AT T FEAYUT B & S G W ATHH F IR
H Sl B 21 e g% UR fafw @ W g @
9ot 3t HAE T T 2|
23. Consider the following statements about air
pressure and choose the appropriate option.
(A) Air above us presses us with a great force
on our bodies, however we don't even feel
it.
(B) Air presses us form all directions and out
body exerts a counter pressure.

g TE & O W fou T wuAl @ ufew qer

3IUYTH fashcd T FATE it

(A) 9 TR IR W Se= o1 & WY &
T § Toheg 79 gHeRt AIHT A& A B

(B) 9TF o1 €16 AN SuX |eft fawmedt & wwmar
2, 3 gurr s ferodfia set e 2

(a) Both (A) and (B) are true and (B) is the
correct explanaiton of (A)/(A) T4 (B) el
et € a9 (B) WE = € (A)

(b) Both (A) and (B) are true and (B) is not the
correct explanaiton of (A)/(A) T (B) el
wé &, g (B) 9 = @ 8 (A) #

(¢) Both (A) and (B) are false/(A) @1 (B) &t
e §

(d) (A) is true but (B) is false(A)/(A) T8 2 g
(B) TTerd @

Ans. (a) : 91F TR IR W 3= & & I I A &
fhg &9 THH T T I § qAq A B I TR
SR gl femsit @ @mar 8, o sAW YRR fawda aa
T 21 39 FHR (A) 91 (B) M WEl 8, a4 (B) Wl
AT T 81 (A) B

A W AT GFR dd & IHE A% & HW (X
IRATS % A WAl 5N §YEdd W USH art 9R &
& 9 I FET @ 2| AG q§ H A AT AT FH
SHIeiiet a1 IR e S 2

24,

Consider the following statements .

(A) Rock is an aggregate of one or more
minerals with definite composition of
consituent minerals.

(B) Minerals are created by natural process
without any human interference.

Choose the correct option.

frefafeaa waat W frem &

(A) Y1 @it 3raEt o T doeT o™ us
T T | AT Wi R T T &

B) @vw fomr frdft wmear T@ew &,
WTehferen wlshamen grr fffa g 81
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(a) Both (A) and (B) are true/(A) 31 (B) 2Fi & &1
(b) Both (A) and (B) are false/(A) 3R (B) =t
T 2
(¢) (A) is true but (B) is fasle/(A) &l 2 oifep
(B) e 21
(d) (A) is false, (B) is true/(A) T & @i (B)
& 2
Ans. (d) : 3 TS 3fagel & MG 92 ot T @
% ¥ s Wil @ 99ed 21 a8 $UF ol @ o
e for foredl AT TwET & Wiad Ssharel g
fafife g 21 9% e T
gt % ded § Td Fu -
o 3 Ypfish &9 § I B &
o 3 TS Fifsm THEig G g 2
o I i ybR F g-aeifes aRaw # ffda g9 €
o 9 Tl T § FIR B & S &R
o TS & FHR % BT 3 ©1Y R 37|
25.

Fill in the blank with the correct option.
The Prairies are

=% v & T fawer 9 W
orlt € |
(a) home to cheetas/dl T =R
(b) suitable place for Cattle rearing/‘ﬁ'?ﬁ e %
forT 3w R |
(c) very hot during daytime and very cold at
night/f& % 999 9gd T 3R T@ & I FgA
2]l
(d) cold deserts/38 WM |
Ans. (b) : Je1d Haeh T F o SUge S 21 vad
TS H19 H HEE 2 S 390 SRS WeTET § qre S |
T8 ST SR WeTET # g U9 TR, HArST IR
At # forega ST Ffesidia o9 F A2 # I F
a9 Y ST ST 8| AR e 9 S AL 3 9USK 2
T & g Seae % o gfernR § S S 2
26. Which of the following factors leads to
shortness in supply of fresh water?
(A) Increasing urbanisation
(B) Rising standards of living
(C) Generating electricity through reservoir of
dams
(D) Rising demands of food and cash crops
Choose the correct options:

frafafad § & @@uitar 9ot @t 3mgfd st
wHt % T FEH &

(A) SEaT TTeRTuT

(B) SEa) Brer Sftee T/

(C) el o STETT9Te o WA | ferge Seures
(D) WIS AR ARl HHEAT it St 7T

et Terered T =ra= W

(a) (A), (B) and (D)/(A), (B) 3R (D)
(b) (A), (C) and (DY/ (A), (C) 3R (D)
(¢) (B), (C) and (D)/(B), (C) iR (D)
(d) All of the above/3UU Tt
Ans. (a) : AT ST H Y B FA H TS BT
foer 8-
o AT RIS
e SER BT S TR
o IS 3R AT HHA H A FT
o T STEET
o Tl ST
27.

Choose the most appropriate option.
Change in the land use pattern leads to cultural
changes i.e society because it

e 3o forsheT o1 e
gt ITART ¥ uRad gUR WA W Wipios
fterd=t o srgraT Il & Siifeh:
(a) increases the per capita income of that area/ag
3G &7 & A Ay e I F A
2
(b) spreads modern values and practices/dg
EFIT%FQ&)" T SR FEER (1) # AR
I R
(c) affects the local natureal resources and
settings/Fg TIHIT Wpfah HHEH R ST
S 1 TN B 8 |
(d) increases the infrastructural
T gfaenst B a2 |
Ans. (¢) : 9 3T # uRadd R TS H HiHias
Red=l & semEr @ € s 98 WrHiE THfas gHeEt
3N A IR B G F 21 49 ST Rada
us UH e @ Rl wpfis uRgya # g w9 9
S-SR qfy 3w % fow oRafda s e s 2
28.

facilities/ag

Fixing someone into an image is called .

Tereft st Wk Bf W S ot o7ef ¥ |

(a) photography/tﬁa e

(b) creating a stereotype/®lEss U T

(c) acknowledging diversity/fafaedr & G
AT

(d) differentiating/3¥d AT

Ans. (b) : f5E &1 ©s BfF & s w1 g @

GO ST S & 9ol A @ us & efd |

g a1 3k aR # et w9 fAfyd ewon 9 o §

AU —> ASh H SRl & qo § Fgd e
SieIfoTeh eTHATE BI & | A lges TR FT IS |
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29. Consider the following Assertion (A) and

Reason (R) about equality:

(A) People's struggle and positive actions by
the government are necessary to make
equality a reality.

(R) Equality is a value that we have to keep
striving for and not semething that will
happen automatically.

Choose the correct option.

AT % Hed ¥ fAAfated weer (A)

HIUMN (R) T TS|

HUT (A): GHNA U Adlsbal a4, g9 g
A % FEY 3 FHN GN FHNEHD
W 331 T P g NEYFHAT 2 |

AT (R) : THHAT 98 ged ¢ s fore g s
od #@ WA AW, AT W AE
el

Tl foheq &1 T9q i)

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) T4 (R) el
& § 3R (R), (A) F e =0T 7
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/(A) T (R) el
& & 3, (R), (A) F1 T =0 46§
(¢) (A) is true but (R) is false/(A) T&l g, W
(R) TTerd &
(d) (A) is false but (R) is true /(A) Td é, W
(R) & &1
Ans. (a) : TAFA UH ar&fashal a4, $9& fQ @l &
o SN TR N GHNES $had 33T T g
YTl & N T 98 Ted ? g fow gH R
T B el G, A8 T AG S gEie aE He
T € 3 (R), (A) I T =A% 3l 2
30.

Which of the following statement is/are true?

(A) Panch is also known as ward member
under a panchayat area.

(B) All the members of Gram Sabha elect a
Panchayat President.

(C) The Gram Sabha is a meeting of all adults
who live in a an area covered by a
Panchayat.

Choose the correct option.

o & @ i | e i §?

(A) U=l I TeImad & & o 9G&T & A1° o
oft T wTar

B) T |WT & Wt wew fueew demm
igar =t gaa 2

(C) TTH THT Ueh oI o & | @+ arer qeft
TR S FHT Erelt B

W foraned =T AT Fitaw)

(2) (A) and (B)/(A) 3 (B)

(b) (A)and (B)/(A) 3 (B)

(c) (A) and (B)/(A) 3T (B)

(d) All(A), (B) and (C)/(A), (B) 31X (C) Teft

Ans. (d) : TH 997 § U9 I T9RG &7 § € 98 F A9

Y off S S 2, T W % gl e feet gerRa
T € SR T T TH e F &7 § T A

Tl gl g9 B 21 e T A e wE 2

TR T HT YA W@AT IR | 2 SERE, 1959 &

H IR & TIH T TAEATA T8E b R TR

T % AR fem # gem e 73al Sfawm denes

T US § Gt |

AT = 739 dfaum g sfufem, 1973 % 3@

Yo T B G st S R T

31.

Which of the following statements is correct

about Rajya Sabha?

(A) Twelve (12) members of Rajya Sabha are
nominated by the Prime Minister.

(B) The Rajya Sabha members are elected by
the members of legilative assembiles of
various states.

(C) It funcitons primarily as the representative
of the states in the Parliament.

(D) It plays a role in reviewing and altering
laws initiated by the Lok Sabha.

Teae & fowm ® frafafaa & @ @9 @

HAT TE 7

(A) TSI@ET & 12 US& waHEst  gnr
AwifeRd feRT wT 2

(B) TSIWT o WEHT T AT fafasr Tt o
fererm wamet & Tratfora wee &t €

(C) I T&ad: WOg W UsAl & WiAAREl &
BT | & HI

(D) 3H&t TARAN T Wardd e @
TG U ultad § ofiren ¥

(a) (A), (B) and (C)/(A), (B) 3 (C)
(b) (B), (C) and (D)/(B), (C) 3 (D)
() (A), (C) and (D)/(A), (C) 3R (D)
(d) (A), (D) and (B)/(A), (D) 3R (B)

Ans. (b) : 9RT & THS TPUM, T<T T 47 A6

fieie e 21 TSI W1 THE H 399 Wed 2

TST G & ) H /] 99 g9 © -

o A THT H TeIHN H 245’ W §, 9 G 127
ee U g A RS S 8 A 5 seeeE grn

o THUT & I & TG fafem U=l o fgue wwst
% i gaer & €|

o IF T UGE # T & SRR F &9 § $- S 2

o TS AHAA FW ARl o H g @ uRad
¥ ofte 71

o TET F W H HAFE ‘6 A AT & qd THH
S-fe gew uf & 9 e Yer-fg & o g

o 9RH I ITFUL TGN B A AT Ul BIell 2|

— ZEMIT &1 S Gl 2 3 HIF (A) Teid @ a1 99

F (B), (O), (D) ¥ ¥
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32. Match the column I of service condition with

the column II on occupation and choose the

appropriate option.
Column I

(a) Regular salaried

(b) Casual work

(¢) Self employment

Column IT
(i) Street vendors
(ii) Housewife
(iii) Construction
worker
(d) Unpaid labour (iv) Teacher
wicT | o WA i hicd 11
Sfifeemr & gafaa &l R Sugw faswed @&
I R
Eacl|
(a) AAANRIT HH=
(b) AfTafha = (ii) &R
(c) RIS (iii) Trmior weTgR
(d) TomT Ia= &1 AR (iv) TorereR
(a) (a)-(1), (b)-(i1), (¢)~(iii), (d)-(iv)
(b) (a)-(ii), (b)~(iv), (¢)-(1), (d)-(ii)
(¢) (a)-(iv), (b)-(iii), (¢)~(1), (d)-(i1)
(d) (a)-(ii), (b)-(1), (c)-(iv), (d)~(iii)

Hied 11
(i) FEUI-Se GHAR

Ans. (¢) ' 5
hreTH -1 hretH-11
(A) 307 arft 4 = - f¥reres
(B) At &m - femfor AsTgx
(C) TSR - FeUd-3AT JHAIR
(D) forr a9 &1 weIR - Teuft
33. The arrangement between a merchant and

weavers whereby merchant supplies the raw
material to weavers and receives the finished
product from the weavers is known as:

ARG ok AT wH HGET Rl
mﬁwaﬁaﬁnmﬁém%aﬁ??—r&
TR | W il &, ShgeATdl €1
(a) Import-Export/3rama-faaid
(b) Co-operative/HgehIdl
(c) Putting-out system/SIG FTEIT
(d) Chain of markets/aTSTRI SECKl

Ans. (¢) : TR 3R S & A9 & e el s
TIHT F Fedl WA AT ¢ AR I TR AA T B
2, 98 AT ‘qaA T FA 2 |

T T U B 'R R AT awqet @ alied
T ST A TH QA VA E, T FER @ F w9 F off
ST S € SN AR W qW URaR 39 i § we
FAT 2

T8 9GS & F A U § e 2

34.

Which of the following are valid reasons for

arguing that there is a lesser possibility of

famine in a democratic country?

(A) People are free to practice faith of their
choice.

(B) Government is likely to respond quickly
fearing its defeat in the next election.

(C) Opposition can draw attention to hunger
and starvation.

(D) Free Press can report suffering from
famine.

Choose the correct option.

frafafga # ¥ 30 9 &, fof cleditie o1 o
AT B GHTEAT 6T BT &, T W I HE0T 87
(A) TIAT TUt 3T HT U oA o fog
@A g
(B) ITR 3WE TAE ¥ TR & W W yfiw
wfetsmar <t
(©€) fauer y@ X gEwh =t W =
TR T Hehal &l
(D) TS UE 3TehRTeT | &l @ HBI i Ui a=r
Hehdl 21
TEt farehed T o= Sl
() (A) and (B) only/&dd (A) 3 (B)
(b) Only (A), (B) and (C)/ da (A), (B) 3R (C)
(¢) Only (B), (C) and (D)/ &ad (B), (C) 3 (D)
(d) Only (A), (B) and (D)/ &ad (A), (B) 3 (D)
Ans. () : TehdiBeh 3 § eI B GG HF &l €,
T e d9 FRT §-
o THR 3TTe 19 H gR & 99 ¥ ¥y wfafsean
o fUeT @ 3R qEHd 7 R A HA L THAT 7|
o AT IY T T & © H8! # KU 51 Teher 21
o A GHR Al % ufd sarer e gl 8 |
= 9RA AT I G kit SAaee AT 39 §
T TH O L 2 A 1947 § AN F S€ 9RA
g 1 e ST AHAES 39 T
35.

If in a class only girls are asked to help in
cleaning, this can be considered as an exaple of
the following:

TR ferdt whetm W hael TTgfeRal ol TS whred

W WEEAT o T &gt et $1 39 IS |7

Hera ¢ frafafaa =

(a) Division of labour/#if¥ei &1 farmem

(b) Gender steriotypes/ci{eh &l RO

(¢) Nutrition and care/dISUT Td @IS

(d) Disciplining/3 e ST
Ans. (b) : 3R {8 &M § Hacd ASHAT H THE HA
# weEa &k fIU e W @ A 3@ IS &
e3ag gRun 4F Fhd 81 Sfedsd 9 SIRmE
Turs # = fafv s fRard ta gRfael @ @ S
% i ¥ gl G F o g ®9 # WMk gt
Tt @ T qrEerh SYAIET 7 8 g off g it we
YA TUH! AATE SEH BT
e & AR “wiess sufaE & w T gq=a
2 S Terd a1 St gEr W eiRa @ dur R Q@ g9
% forw s feham S 21
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36. Which of the following is not true about the

Consituent Assembly?
frrefefiaa & @ s @ d@frems aur & d@ee §
e = 77
(a) The Assembly had many members who were
not with the Indian National Congress/S¥T G
e 9 W YRAE U B0 F 9 e
(b) The Assembly represented memebrs from
different social groups/@f 3 faferm wmmfers
TR ¥ N et 1 Wt e
(c) Members of the Assembly believed in
different ideologies/9q & T fafes
fommergst § faam s 4
(d) The Assembly only had male members/d4T 7
Fad I&Y §e 9|
Ans. (d) : e fem & T@fEl F oMUR W 9w
dfeer & T F Al dfaEE 9 H Ted o,
1946 3. ¥ fopar o
T 9o & dely W FHeA-
o dfgerd war # Afgensl & de 15 o
o TfyuM TW H &% 4™ 9 S 9N THE HE9 &
g T& A
o Hfyum T % Te fafve fram el # faam @ 9
o 9 REWR, 1946 H HfawH wa N voH doH T
faelt fad Fifie JwR & THwed 9o g8 |
o ufemam= figr & W H SwATR oreAw U ef.
TSI Y1 1 qT 7 Tt 3Tt AT M
die = fahed (D) 7o & FHifs 99 § Fad EY g
T8 9, g # 15 Afger gaw o o)
37.

The Preamble of Indian Consitution ensure
which two kinds of equality to all citizens?

Ot Gfgem @t wearear asft amient @
Rt St weRR ST wHETaT Gl whtar &2

‘ferenfrent 3R wriUTfeTeRt, —mIUTTERT % S TH
T g@au g w Tha & g HAT AR
wigem & fere fagia =t gotier 872
(a) Judicial Review/=Tae FHren
(b) Basic Structure Doctrine/3THRYd E=HT I
fgia
(c) Separation of Powers/31ihai &1 deam
(d) Judicial Activism/=TIe sk
Ans. (c) : [Fenfen 3R FrEfwfers, =mEares & @ &
T T B Gohd § A8 U AN GieuE & ket
&1 Fean fagia H aia g1 IRAT Hared e H
IR 28 SHEd 1950 I AT AT AT THA WNA &
Tl =EeE S e #, S 9Rg Wer siffrem
1935 & ded Tfya foam T
GRS =Tt & §LET A &l 8-
o I=IdH IATAT
o 3™d I
o 3T AT
T = 9N & TH Iwadq AEEd § R 25 3=
=
39. Read the statements (A) and (B) and choose the
arppropriate option.
(A) There is no official religion of Indian state.

(B) There is provision of reservation in
government jobs for religious minorities.

HUT (A) 3R (B) H ufey e Uk foreheq

T T IS

(A) WIS T a1 ahlg JTTiIeRTes ot Tt &1

(B) TRt HieRliEt W enfier sreudEmeRl o
T, 2Tt St wree 2

(a) (A) and (B) are true/(A) 3R (B) T&l §

(b) (A) and (B) are false/(A) 3l (B)TTerd g

(¢) (A)is true (B) is false/(A) &I €, (B) Teid &

(d) (A) is false (B) is true/(A) T &, (B) && &

(a) Status and Opportunity/Sfa=T 3 37T

(b) Income and Wealth/3T™ 3 &

(c) Property and Status/Gqft 3 gferer

(d) Opportunity and Income/3TTH FN 37
Ans. (a) : 9RAE GfaEe & e @ ARl @
yfieT 3R ST AE & YHR N GHEAT S8 & 2
e s e & e 13 W’ 1946 @ GiaE
g H AR dgE 3N UY fRT U 32vE ST &
YR T 26 FasR 1949 HI WA AT gRT 37911 T
o1 424 dfgue gemeT fifEm, 1976 €% g gEH
‘U, ‘GufRier 3R TP # eT@vedr ¥eE el
T YEEAT W YT ¥R - G EdTd,  GHSEN,
Gofuer, dishditie TURST B
38.

'Legislature and Executive cannot interfere
with the work of the Judiciary'. This statement
stands for which principle of the Indian
Constitution?

Ans. (¢) : TT TSI & HE AMHRH o7 T8 2 T8
HIT T & 9 WHN AeRal § e eqseTS %
foTT ST 8 T8 U el § W AteRal # SC, ST,
OBC, EWS 3t fashetimi ! aymeqor fean war € s f6
Toft o % @ & g ol 39 81 W YHR Fel S FHAl
2 % Fo (A) &I 2 3 %9 (B) o 21

40.

Which of the following statements are correct
with refrence to Bhopal Gas Tragedy?

frefafiaa waat § @ &9 ¥ woT Sure 9

TS & Hoer W T §?

(a) Union Carbide was taken by surpriced when
the tragedy occured./gf&" F@EE 3T
© TS off 59 T g

(b) Union Carbide cleaned up the toxic chemlcals
before leaving the country/?{ﬁ?i(:f T
I Bled ¥ T faet WAl #owE- Fﬂm‘
I
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